BIOLOGY

BOOKS - OSWAL PUBLICATION

HEREDITY

Stand Alone Mcqgs

1. Which of the following statement is

incorrect?



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_9XdHLda9zmvs

A. For every hormone there is a gene.

B. For every protein there is a gene.

C. For production of every enzyme there is

a gene.

D. For every molecule of fat there is a gene.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_9XdHLda9zmvs

2.If a round, green seeded pea plant (RR yy) is
crossed with wrinkled, yellow seeded pea
plant, (rr YY) the seeds production in F}
generation are

A.round and yellow.

B. round and green.

C.round and green.

D. wrinkled and yellow.

Answer: A
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https://dl.doubtnut.com/l/_Apq05wW5GJYU
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3. The maleness of a child is determined by

A. the X chromosome in the zygote.

B. the Y chromosome in zygote.

C.the cytoplasm of germ cell which

determines the sex.

D. sex is determined by chance.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Apq05wW5GJYU
https://dl.doubtnut.com/l/_HswSacsoExlY

4. A zygote which has an X-chromosome

inherited from the father will develop into a

A. boy.

B. girl.

C. X- chromosome does not determine the

sex of a child.

D. either boy or girl.

Answer: B



https://dl.doubtnut.com/l/_HswSacsoExlY
https://dl.doubtnut.com/l/_SA1TrJViE2Im

L ' Watch Video Solution J

5. From the list given below, select the

character which can be acquired but not

inherited

A. colour of eye.

B. colour of skin.

C.size of body.

D. nature of hair

Answer: C



https://dl.doubtnut.com/l/_SA1TrJViE2Im
https://dl.doubtnut.com/l/_E6MEo9JkRPL9

I o Watch Video Solution

6. Two pink coloured flower on corssing

resulted in 1 red,2 pink and 1 white flower

progeny. The nature of the cross will be

A. double fertilisation.

B. self-pollination.

C. cross fertilisation

D. no fertilization.

Answer: C


https://dl.doubtnut.com/l/_E6MEo9JkRPL9
https://dl.doubtnut.com/l/_NG408mYomR4g

o Watch Video Solution

7. A cross between a tall plant (TT) and short

pea plant (tt) resulted in progeny that were all

tall plants because

A. tallness is the dominant trait.

B. shortness is the dominant trait.

C. tallness is the recessive trait.

D. height of pea plant is not governed by

gene T or 't


https://dl.doubtnut.com/l/_NG408mYomR4g
https://dl.doubtnut.com/l/_6uDU8TcgNscQ

Answer: A

o Watch Video Solution

8. The number of pair(s) of sex chromosomes

in the zygote of humans is

A. one.

B. two.

C. three.

D. four.


https://dl.doubtnut.com/l/_6uDU8TcgNscQ
https://dl.doubtnut.com/l/_sGjgIBYlgULl

Answer: A

o Watch Video Solution

9. In evolutionary terms, we have more in

common with

A. a Chinese school-boy.

B. a chimpanzee

C.aspider

D. a bacterium


https://dl.doubtnut.com/l/_sGjgIBYlgULl
https://dl.doubtnut.com/l/_ZA3ipqWzc95r

Answer: A

o Watch Video Solution

10. The theory of evolution of species by

natural selection was given by

A. Mendel

B. Darwin

C. Morgan

D. Lamarck


https://dl.doubtnut.com/l/_ZA3ipqWzc95r
https://dl.doubtnut.com/l/_7mL4ewROTu2J

Answer: B

o Watch Video Solution

1. Theory of inheritance of acquired

characters was given by

A. Mendel

B. Darwin

C. Morgan

D. Lamarck


https://dl.doubtnut.com/l/_7mL4ewROTu2J
https://dl.doubtnut.com/l/_Edqy0jwSYsuO

Answer: D

o Watch Video Solution

12. If the fossil of an organism is found in the
deeper layers of earth, then we can predict
that :
A. the extinction of organism has occured
recently.

B. the extinction of organism has occurred

thousands of years ago.


https://dl.doubtnut.com/l/_Edqy0jwSYsuO
https://dl.doubtnut.com/l/_EkF3pLc3gZ6N

C. the fossil position in the layers of earth

is not related to its time of extinction

D. time of extinction cannot be determined.

Answer: B

o Watch Video Solution

Assertion Ans Reason Based Mcqs

1. Assertion: A geneticist crossed a pea plant

having violet flowers with a pea plant with


https://dl.doubtnut.com/l/_EkF3pLc3gZ6N
https://dl.doubtnut.com/l/_RN4FlJP7caeT

white flowers, he got all violet flowers in first

generation.

Reason: White colour gene is not passed on to

next generation.

A.Both A and R are true and R is the

correct explanation of A.

B.Both A and R are true but R is NOT the

correct explanation of A.

C.Ais true but R is false.

D. Ais false and R is true.


https://dl.doubtnut.com/l/_RN4FlJP7caeT

Answer: C

o Watch Video Solution

2. Assertion (A): Mendel chose a number of
varieties of garden pea as plant material for
his experiments.

Reason (R): Garden pea has well defined

characters and is bisexual.

A.Both A and R are true and R is the

correct explanation of A.


https://dl.doubtnut.com/l/_RN4FlJP7caeT
https://dl.doubtnut.com/l/_7XdpbHwtQVEe

B.Both A and R are true but R is NOT the

correct explanation of A.

C.Ais true but R is false.

D. Ais false and R is true.

Answer: A

o Watch Video Solution

3. Assertion (A): In humans, males play an

important role in determining the sex of the


https://dl.doubtnut.com/l/_7XdpbHwtQVEe
https://dl.doubtnut.com/l/_vB4YBad9nc3o

child.

Reason (R): Males have two X chromosomes.

A.Both A and R are true and R is the

correct explanation of A.

B. Both A and R are true but R is NOT the

correct explanation of A.

C.Ais true but R is false.

D. Ais false and R is true.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_vB4YBad9nc3o

4. Assertion (A): Learning a skill such as dance
and music is an acquired trait.
Reason (R): Acquired traits develop in the life

time of an individual and do not pass to the

progeny.

A.Both A and R are true and R is the

correct explanation of A.

B. Both A and R are true but R is NOT the

correct explanation of A.


https://dl.doubtnut.com/l/_vB4YBad9nc3o
https://dl.doubtnut.com/l/_xMJILcqYY4fz

C.Ais true but R is false.

D. A is false and R is true.

Answer: A

o Watch Video Solution

5. Assertion (A): Traits like eye colour or height
are inherited traits.
Reason (R): Inherited traits are not transferred

from parents to young ones.


https://dl.doubtnut.com/l/_xMJILcqYY4fz
https://dl.doubtnut.com/l/_bt7Y7laNZsKe

A.Both A and R are true and R is the

correct explanation of A.

B.Both A and R are true but R is NOT the

correct explanation of A.

C.Ais true but R is false.

D. Ais false and R is true.

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_bt7Y7laNZsKe

6. Assertion (A): Fossils are remains of dead

organisms.

Reason (R): It is helpful in study of evolution .

A.Both A and R are true and R is the

correct explanation of A.

B. Both A and R are true but R is NOT the

correct explanation of A.

C.Ais true but R is false.

D. Ais false and R is true.


https://dl.doubtnut.com/l/_v2h8Wl9LBEEt

Answer: B

o Watch Video Solution

7. Assertion (A): Wings of butterfly and wings
of bat are analogous organs.

Reason (R): Analogous organs have different
origin and structural plan but same function.
a) Both A and R are true and R is the correct
explanation of A.

b) Both A and R are true but R is NOT the

correct explanation of A.


https://dl.doubtnut.com/l/_v2h8Wl9LBEEt
https://dl.doubtnut.com/l/_1gCoOaIO1WSU

c) Ais true but R is false.

d) Ais false and R is true.

A.Both A and R are true and R is the

correct explanation of A.

B. Both A and R are true but R is NOT the

correct explanation of A.

C.Ais true but R is false.

D. Ais false and R is true.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_1gCoOaIO1WSU

8. Assertion (A): Speciation is the process of

formation of a new species from a pre-existing

one.

Reason (R): Mutation plays a role in speciation

A.Both A and R are true and R is the

correct explanation of A.

B. Both A and R are true but R is NOT the

correct explanation of A.

C.Ais true but R is false.


https://dl.doubtnut.com/l/_1gCoOaIO1WSU
https://dl.doubtnut.com/l/_TwEhTzGWTCu8

D. Ais false and R is true.

Answer: A

o Watch Video Solution

9. Assertion (A): Natural selection is the
phenomenon by which the nature selects
those species which possess survival
advantage over the other species.

Reason (R): According to theory of natural

selection, there is struggle of existence within


https://dl.doubtnut.com/l/_TwEhTzGWTCu8
https://dl.doubtnut.com/l/_V15cGErGhrA8

the species of a population for the

environmental resources and their struggle

leads to survival of certain organisms and

elimination of the less competent species.

A.Both A and R are true and R is the

correct explanation of A.

B. Both A and R are true but R is NOT the

correct explanation of A.

C.Ais true but R is false.

D. Ais false and R is true.


https://dl.doubtnut.com/l/_V15cGErGhrA8

Answer: A

o Watch Video Solution

Case Based Mcqs

1. In a cross between plants with purple

flowers and plants with white flowers, the
offspring of F; generation all had white
flowers. When the F; generation was self-
crossed, it was observed in the Fy generation

that out of 100, 75 flowers were white. Make a


https://dl.doubtnut.com/l/_V15cGErGhrA8
https://dl.doubtnut.com/l/_29PGFm4M6HIN

cross and answer the following questions:

The above cross is known as:

A. Monohybrid cross

B. Dihybrid cross

C. Test cross

D. Back cross

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_29PGFm4M6HIN

2. In a cross between plants with purple
flowers and plants with white flowers, the
offspring of Fj; generation all had white
flowers. When the F| generation was self-
crossed, it was observed in the F5 generation
that out of 100, 75 flowers were white. Make a
cross and answer the following questions:

In a monohybrid cross between two
heterozygous individuals, percentage of pure
homozygous individuals obtained in Fj

generation is?


https://dl.doubtnut.com/l/_GJWGKyPiHrz8

A.0.25

B.0.5

C.0.75

D. 1

Answer: B

o Watch Video Solution

3. In a cross between plants with purple
flowers and plants with white flowers, the

offspring of F; generation all had white


https://dl.doubtnut.com/l/_GJWGKyPiHrz8
https://dl.doubtnut.com/l/_23imUjiPTtRK

flowers. When the F} generation was self-
crossed, it was observed in the Fy generation
that out of 100, 75 flowers were white. Make a
cross and answer the following questions:
Which of these is not the genotype ofF;
progeny?

A. WW

B. Ww

C. ww

D. Wp

Answer: D


https://dl.doubtnut.com/l/_23imUjiPTtRK

o Watch Video Solution

4. In a cross between plants with purple
flowers and plants with white flowers, the
offspring of F; generation all had white
flowers. When the F generation was self-
crossed, it was observed in the Fy generation
that out of 100, 75 flowers were white. Make a
cross and answer the following questions:

The ratio of 'White: generation is Purple'
flowers in the Fj

a)3:1


https://dl.doubtnut.com/l/_23imUjiPTtRK
https://dl.doubtnut.com/l/_61U0sRdwwoIg

A3:1

B.1:2

C.1:3

D.2:1

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_61U0sRdwwoIg
https://dl.doubtnut.com/l/_CgSOJsUTRXKI

5. Study the given cross showing self

pollination F; and answer the following

questions from Q.1. to Q.4.

le. The missing blank in the above cross is:
A.RrYy

B. RRYY

C. RryY

D. rryy

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_CgSOJsUTRXKI

6. Study the given cross showing self
pollination F; and answer the following
questions from Q.1. to Q.4.
».The combination of characters in the F;
progeny are:
A.Round Yellow: Round Green: Wrinkled
Yellow: Wrinkled Green

B. Round Green : Round Yellow Wrinkled

yellow: Wrinkled Green


https://dl.doubtnut.com/l/_CgSOJsUTRXKI
https://dl.doubtnut.com/l/_bdmIRulVzVmQ

C. Round Yellow : Round Green Wrinkled

Green: Wrinkled yellow

D. Round Green : . Round Yellow : Wrinkled

yellow:: Wrinkled Green

Answer: A

o View Text Solution

7. Study the given «cross showing self
pollination F}; and answer the following

questions from Q.1. to Q.4.


https://dl.doubtnut.com/l/_bdmIRulVzVmQ
https://dl.doubtnut.com/l/_9V2UegfKgsYY

L+ The ratio of the combination of characters

in the Fy progeny is:

A3:1

B.1:2:1

C.1:1:1

D.9:3:3:1

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_9V2UegfKgsYY

8. Study the given cross showing self
pollination F; and answer the following
questions from Q.1. to Q.4.

#. A Mendelian experiment consists of
breeding tall pea plants bearing violet flowers
with short pea plants bearing white flowers.
The progeny all bore violet flowers, but almost
half of them were short. This suggests that
the genetic make-up of file tall parent cod

depicted as

A TTWW


https://dl.doubtnut.com/l/_I3YdgDZIj7vH

B. TTww

C. TtWw

D. TtWw

Answer: C

o View Text Solution

9. A person first crossed pure-bred pea plants
having round-yellow seeds with pure-bred pea
plants having wrinkled-green seeds and found

that only A-B type of seeds were produced in


https://dl.doubtnut.com/l/_I3YdgDZIj7vH
https://dl.doubtnut.com/l/_Ne3NKgrhjt5g

the F generation. When F| generation pea
plants having A-B type of seeds were cross-
bred by self-pollination, then in addition to
the original round-yellow and wrinkled-green
seeds, two new varieties A-D and C-B type of
seeds were also obtained.

What are A-B type of seeds?

A. Round -yellow

B. Round- green

C. Wrinkled-yellow

D. Wrinkled- green


https://dl.doubtnut.com/l/_Ne3NKgrhjt5g

Answer: A

o Watch Video Solution

10. A person first crossed pure-bred pea plants
having round-yellow seeds with pure-bred pea
plants having wrinkled-green seeds and found
that only A-B type of seeds were produced in
the F; generation. When F generation pea
plants having A-B type of seeds were cross-
bred by self-pollination, then in addition to

the original round-yellow and wrinkled-green


https://dl.doubtnut.com/l/_Ne3NKgrhjt5g
https://dl.doubtnut.com/l/_QzwJdYljy3a9

seeds, two new varieties A-D and C-B type of
seeds were also obtained.

(a) What are A-B type of seeds ?

(b) State whether A and B are dominant traits
or recessive traits.

(c) What are A-D type of seeds ?

(d) What are C-B type of seeds ?

(e) Out of A-B and A-D types of seeds, which
one will be produced in (i) minimum numbers,
and (i) maximum numbers, in the Fj

generation ?

A. dominant


https://dl.doubtnut.com/l/_QzwJdYljy3a9

B. recessive

C.Bothaandb

D. None of these

Answer: A

o Watch Video Solution

11. A person first crossed pure-bred pea plants
having round-yellow seeds with pure-bred pea
plants having wrinkled-green seeds and found

that only A-B type of seeds were produced in


https://dl.doubtnut.com/l/_QzwJdYljy3a9
https://dl.doubtnut.com/l/_qHeRIUClZEEN

the F generation. When F| generation pea
plants having A-B type of seeds were cross-
bred by self-pollination, then in addition to
the original round-yellow and wrinkled-green
seeds, two new varieties A-D and C-B type of
seeds were also obtained.

What are A-D type of seeds and What are C-B

type of seeds respectively?

A.Round green and wrinkled vyellow

respectively


https://dl.doubtnut.com/l/_qHeRIUClZEEN

B.Round vyellow and wrinkled green

respectively

C.Wrinkled green and round green

respectively

D. Wrinkled green and round vyellow

respectively

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_qHeRIUClZEEN

12. A person first crossed pure-bred pea plants
having round-yellow seeds with pure-bred pea
plants having wrinkled-green seeds and found
that only A-B type of seeds were produced in
the F; generation. When F} generation pea
plants having A-B type of seeds were cross-
bred by self-pollination, then in addition to
the original round-yellow and wrinkled-green
seeds, two new varieties A-D and C-B type of
seeds were also obtained.

Out of A-B and A-D types of seeds, which one


https://dl.doubtnut.com/l/_T1mtOFOGdczT

will be produced in (i) minimum numbers, and

(i) maximum numbers, in the F; generation ?

A. A-B and C-D respectively

B. A-D and C-B respectively

C. C-D and A-B respectively

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_T1mtOFOGdczT

13. Seema crossed pure breed pea plants
having round-yellow seeds with wrinkled green
seeds and found that only A-B type of seeds
were produced in the F; generation. When F}
generation pea plants having A-B type of
seeds were cross-breed oy self pollination,
then in addition to the original found yellow
and wrinkled green seeds, two new varieties A-
D and C-B types of seeds were also obtained.

The above cross is known as

A. Monohybrid cross


https://dl.doubtnut.com/l/_LnAxDTyGonXK

B. Dihybrid cross

C. Test cross

D. Back cross

Answer: B

o Watch Video Solution

Self Assessment | Objective Type Questions A

Multiple Choice Questions



https://dl.doubtnut.com/l/_LnAxDTyGonXK

1. A Mendelian experiment consisted of
breeding pea plants bearing violet flowers
with pea plants bearing white flowers. What
will be the results in F; progeny ?

A. Heterozygous plant with violet flowers

B. Homozygous plant with violet flowers

C. Heterozygous plant with white flowers

D. Homozygous plant with white flowers

Answer:

‘ ° Wiak hh \AAA CAaliikianm



https://dl.doubtnut.com/l/_DGHaUcG1ZRDO
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Self Assessment | Objective Type Questions

1. A person first crossed pure-bred pea plants
having round-yellow seeds with pure-bred pea
plants having wrinkled-green seeds and found
that only A-B type of seeds were produced in
the F) generation. When F generation pea
plants having A-B type of seeds were cross-
bred by self-pollination, then in addition to

the original round-yellow and wrinkled-green


https://dl.doubtnut.com/l/_DGHaUcG1ZRDO
https://dl.doubtnut.com/l/_wDIqrbG3ehHI

seeds, two new varieties A-D and C-B type of
seeds were also obtained.

(a) What are A-B type of seeds ?

(b) State whether A and B are dominant traits
or recessive traits.

(c) What are A-D type of seeds ?

(d) What are C-B type of seeds ?

(e) Out of A-B and A-D types of seeds, which
one will be produced in (i) minimum numbers,
and (i) maximum numbers, in the Fj

generation ?

A. What are A-B type of seeds ?


https://dl.doubtnut.com/l/_wDIqrbG3ehHI

B. State whether A and B are dominant

traits or recessive traits.

C. What are A-D and C-B type of seeds?

D. Which one will be produced in minimum

and maximum number in the F,

generation? (i) A-B (ii) A-D

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_wDIqrbG3ehHI

Self Assessment | Objective Type Questions C

Assertion And Reason Type Questions

1. Directions: In the following questions, a
statement of assertion (A) is followed by a
statement of reason (R). Mark the correct
choice as :

Assertion (A): Mendel chose a number of
varieties of garden pea as plant material for
his experiments.

Reason (R): Garden pea has well defined

characters and was bisexual.


https://dl.doubtnut.com/l/_CWQ5hONocTCY

A. Both assertion (A) and reason (R) are

true and reason (R) is the correct

explanation of assertion (A).

B.Both assertion (A) and reason (R) are

true but reason (R) is not the correct

explanation of assertion (A).

C. Assertion (A) is true but reason (R) is

false.

D. Assertion (A) is false but reason (R) is

true


https://dl.doubtnut.com/l/_CWQ5hONocTCY

Answer:

o Watch Video Solution

Self Assessment | Objective Type Questions D

Very Short Answer Type Questions

1. How many pairs of chromosomes are

present in a single cell of the human body?

° Watch Video Solution



https://dl.doubtnut.com/l/_CWQ5hONocTCY
https://dl.doubtnut.com/l/_NqgjmCQpYyjf

2. Mendel took tall pea plants and short pea
plants and produced F; progeny through
cross fertilisation. What did Mendel observe in

the F progeny ?

° Watch Video Solution

3. Name the unit of inheritance. What is its

functions ?

o Watch Video Solution



https://dl.doubtnut.com/l/_NJnkCXU0tNIa
https://dl.doubtnut.com/l/_VJKg5Mn8mpLZ

Self Assessment | Objective Type Questions D

Short Answer Type Questions

1. How do Mendel’s experiments show that

traits may be dominant or recessive?

o Watch Video Solution

Ncert Corner Inteht Questions

1.If a trait A exists in 10% of a population of an

asexually reproducing species and a trait B


https://dl.doubtnut.com/l/_2oYNYgzSXUmD
https://dl.doubtnut.com/l/_A935KjbFSUwg

exists in 60% of the same population, which

trait is likely to have arisen earlier?

° Watch Video Solution

2. How does the creation of variations in a

species promote survival?

o Watch Video Solution

3. How do Mendel’s experiments show that

traits may be dominant or recessive?


https://dl.doubtnut.com/l/_A935KjbFSUwg
https://dl.doubtnut.com/l/_qzS0UjywRrI1
https://dl.doubtnut.com/l/_7KWzkRvF9tt5

° Watch Video Solution

4. How do Mendel’s experiments show that

traits are inherited independently?

o Watch Video Solution

5. A man with blood group A marries a woman
with blood group O and their daughter has

blood group O. Is this information enough to


https://dl.doubtnut.com/l/_7KWzkRvF9tt5
https://dl.doubtnut.com/l/_Wk0nbPVBFaKV
https://dl.doubtnut.com/l/_Ay7truZosV6Q

tell you which of the traits - blood group A or

O - is dominant? Why or why not?

° Watch Video Solution

6. How is the sex of the child determined in

human beings?

o Watch Video Solution

7. What are the different ways in which

individuals with a particular trait may increase


https://dl.doubtnut.com/l/_Ay7truZosV6Q
https://dl.doubtnut.com/l/_w5N182FUUR2O
https://dl.doubtnut.com/l/_LXpL198QXRsa

in a population?

o Watch Video Solution

8. Why are traits acquired during the life-time

of an individual not inherited?

° Watch Video Solution

9. Why are the small numbers of surviving
tigers a cause of worry from the point of view

of genetics?


https://dl.doubtnut.com/l/_LXpL198QXRsa
https://dl.doubtnut.com/l/_8WLnZul5PHvi
https://dl.doubtnut.com/l/_5JJHHy4oCOFR

° Watch Video Solution

10. What factors could lead to the rise of a

new species?

o Watch Video Solution

1. Will geographical isolation be a major
factor in the speciation of a self- pollinating

plant species? Why or why not?

o Watch Video Solution



https://dl.doubtnut.com/l/_5JJHHy4oCOFR
https://dl.doubtnut.com/l/_1Lyo9IiBmgyz
https://dl.doubtnut.com/l/_s80GSyo989FM

12. Will geographical isolation be a major
factor in the speciation of an organism that

reproduces asexually? Why or why not?

o Watch Video Solution

13. Give an example of characteristics being
used to determine how close two species are

in evolutionary terms.

o Watch Video Solution



https://dl.doubtnut.com/l/_s80GSyo989FM
https://dl.doubtnut.com/l/_nCI1JRrSjMdD
https://dl.doubtnut.com/l/_m6kIhCJmVQNB

14. Can the wing of a butterfly and the wing of
a bat be considered homologous organs? Why

or why not?

o Watch Video Solution

15. What are fossils? What do they tell us

about the process of evolution

° Watch Video Solution



https://dl.doubtnut.com/l/_HGRwCGywAwm8
https://dl.doubtnut.com/l/_dRZX2LGUAk2h

16. Why are human beings who look so
different from each other in terms of size,
colour and looks said to belong to the same

species?

° Watch Video Solution

17. In evolutionary terms, can we say which
among bacteria, spiders, fish and chimpanzees

have a ‘better’ body design? Why or why not?

° Watch Video Solution



https://dl.doubtnut.com/l/_GaqxsupUi45Y
https://dl.doubtnut.com/l/_FzE5zSUCwMTo

Ncert Corner Exercise Questions

1. A Mendelian experiment consisted of

breeding tall pea plants bearing violet flowers
with short pea plants bearing white flowers.
The progeny all bore violet flowers, but almost
half of them were short. This suggests that
the genetic make-up of the tall parent can be

depicted as

A TTWW


https://dl.doubtnut.com/l/_FzE5zSUCwMTo
https://dl.doubtnut.com/l/_8xwolhcXEW4J

B. T Tww

C. TtWw

D. TtWw

Answer: c

o Watch Video Solution

2. An example of homologous organs is

A.our arm and dog's fore-leg.

B. our teeth and an elephant's tusks.


https://dl.doubtnut.com/l/_8xwolhcXEW4J
https://dl.doubtnut.com/l/_wsJiTA2ThZtq

C. potato and tunners of grass.

D. all of the above

Answer: d

o Watch Video Solution

3. In evolutionary terms, we have more in

common with

A. a Chinese school-boy

B. a chimpanzee.


https://dl.doubtnut.com/l/_wsJiTA2ThZtq
https://dl.doubtnut.com/l/_RvTOYj2cNjct

C. a spider.

D. a bacterium.

Answer: a

o Watch Video Solution

4. A study found that children with light-
coloured eyes are likely to have parents with
light-coloured eyes. On this basis, can we say

anything about whether the light eye colour


https://dl.doubtnut.com/l/_RvTOYj2cNjct
https://dl.doubtnut.com/l/_tCG2rGStAIth

trait is dominant or recessive? Why or why

not?

° Watch Video Solution

5. How are the areas of study - evolution and

classification - interlinked?

o Watch Video Solution

6. Explain the terms analogous and

homologous organs with examples.


https://dl.doubtnut.com/l/_tCG2rGStAIth
https://dl.doubtnut.com/l/_b3PTi75HVUZu
https://dl.doubtnut.com/l/_iZ7l5c4s1Fb6

° Watch Video Solution

7. Outline a project which aims to find the

dominant coat colour in dogs.

o Watch Video Solution

8. Explain the importance of fossils in deciding

evolutionary relationships.

° Watch Video Solution



https://dl.doubtnut.com/l/_iZ7l5c4s1Fb6
https://dl.doubtnut.com/l/_MzCf1oW3u2q9
https://dl.doubtnut.com/l/_hiUJguc49Wes
https://dl.doubtnut.com/l/_hsWfKKxG73zh

9. What evidence do we have for the origin of

life from inanimate matter?

o Watch Video Solution

10. Explain how sexual reproduction gives rise
to more viable variations than asexual
reproduction. How does this affect the
evolution of those organisms that reproduce

sexually?

o Watch Video Solution



https://dl.doubtnut.com/l/_hsWfKKxG73zh
https://dl.doubtnut.com/l/_nTH4w20Rd9bV

1. How is the equal genetic contribution of
male and female parents ensured in the

progeny?

o Watch Video Solution

12. Only variations that confer an advantage to
an individual organism will survive in a
population. Do you agree with this statement?

Why or why not?

° Watch Video Solution



https://dl.doubtnut.com/l/_PXgKS1Cqn91i
https://dl.doubtnut.com/l/_zeaZg8ByiUFG

Ncert Exemplar Multiple Choice Questions

1. Exchange of genetic material takes place in

A. vegetative reproduction.

B. asexual reproduction

C. sexual reproduction.

D. budding

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_zeaZg8ByiUFG
https://dl.doubtnut.com/l/_sLM5T7QYqKy1

2. Two pink coloured flower on corssing

resulted in 1 red,2 pink and 1 white flower

progeny. The nature of the cross will be

A. double fertilization.

B. self-pollination.

C. cross fertilization.

D. no fertilization.

Answer: C

I Q Watch Video Solution


https://dl.doubtnut.com/l/_sLM5T7QYqKy1
https://dl.doubtnut.com/l/_nfBJDwAxo2uX

3. A cross between a tall plant (TT) and short
pea plant (tt) resulted in progeny that were all
tall plants because

A. tallness is the dominant trait.

B. shortness is the dominant trait.

C. tallness is the recessive trait.

D. height of pea plant is not governed by

gene T or 't


https://dl.doubtnut.com/l/_nfBJDwAxo2uX
https://dl.doubtnut.com/l/_YX6rzyrafJxg

Answer: A

o Watch Video Solution

4. Which of the following statement is

incorrect?

A. For every hormone there is a gene.

B. For every protein there is a gene.

C. For production of every enzyme there is

a gene.


https://dl.doubtnut.com/l/_YX6rzyrafJxg
https://dl.doubtnut.com/l/_2e87mWWFOWNi

D. For every molecule of fat there is a gene.

Answer: D

° Watch Video Solution

5.1f a round, green seeded pea plant (RR yy) is
crossed with wrinkled, yellow seeded pea
plant, (rr YY) the seeds production in F}

generation are

A.round and yellow.


https://dl.doubtnut.com/l/_2e87mWWFOWNi
https://dl.doubtnut.com/l/_CbCAqagNeIzl

B. round and green.

C. wrinkled and green.

D. wrinkled and yellow.

Answer: A

o Watch Video Solution

6. In human males all the chromosomes are
paired perfectly except one. This/these

unpaired chromosomes is/are :


https://dl.doubtnut.com/l/_CbCAqagNeIzl
https://dl.doubtnut.com/l/_5rCG9sV8KHh1

(i) large chromosome (ii) small chromosome

(iii) Y chromosome (iv) X chromosome

A. (i) and (ii)

B. (iii) and (iv)

C. (ii1) only (iv)

D. (ii) and (iv)

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_5rCG9sV8KHh1

7. The maleness of a child is determined by

A. the X-chromosome in the zygote.

B. the Y-chromosome in zygote.

C.the cytoplasm of germ cell which

determines the sex.

D. sex is determined by chance.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_2PUqBxIAVwuP
https://dl.doubtnut.com/l/_3A2nHZB44iSa

8. A zygote which has an X-chromosome

inherited from the father will develop into a

A. boy

B. girl

C. X- chromosome does not determine the

sex of a child.

D. either boy or girl.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_3A2nHZB44iSa

9. Select the incorrect statement :

A.Frequency of certain genes in a

population  change over several

generations resulting in evolution

B. Reduction in weight of the organism due

to starvation is genetically controlled

C.Low weight parents can have

heavyweight progeny


https://dl.doubtnut.com/l/_FDE6sc3SyV3H

D. Traits which are not inherited over

generations do not cause evolution

Answer: B

o Watch Video Solution

10. New species may be formed if :

(i) DNA undergoes significant changes in germ
cells

(i) chromosome number changes in the

gamete


https://dl.doubtnut.com/l/_FDE6sc3SyV3H
https://dl.doubtnut.com/l/_vedFLlzzf4B7

(iii) there is no change in the genetic material

(iv) mating does not take place

A. (i) and (ii)

B. (i) and (iii)

C. (i), (iii) and (iv)

D. (i), (ii) and (iii)

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_vedFLlzzf4B7

11. Two pea plants one with round green seeds
(RRyy) and another with wrinkled yellow (rr YY)
seeds produce F7j, progeny that have round,
yellow (RrYy) seeds. When Fj, plants are
selfed, the F,, progeny will have new
combination of characters. Choose the new
combination from the following.

(1) Round, yellow

(i) Round, green

(iii) Winkled, yellow

(iv) Wrinkled, green


https://dl.doubtnut.com/l/_qj8Mv1Df87Gl

A. (i) and (ii)

B. (i) and (iv)

C. (i) and (iii)

D. (i) and (iii)

Answer: B

o Watch Video Solution

12. A basket of vegetables contains carrot,
potato, radish and tomato. Which of them

represent the correct homologous structures?


https://dl.doubtnut.com/l/_qj8Mv1Df87Gl
https://dl.doubtnut.com/l/_wAo9dd5VDI2N

A. Carrot and potato

B. Carrot and tomato

C. Radish and carrot

D. Radish and potato

Answer: C

o Watch Video Solution

13. Select the correct statement.


https://dl.doubtnut.com/l/_wAo9dd5VDI2N
https://dl.doubtnut.com/l/_lwgrAIRwYp8W

A. Tendril of a pea plant and phylloclade of

Opuntia are homologous.

B. Tendril of a pea plant and phylloclade of

Opuntia are analogous.

C. Wings of birds and limbs of lizards are

analogous.

D. Wings of birds and wings of bat are

homologous.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_lwgrAIRwYp8W

14. If the fossil of an organism is found in the
deeper layers of earth, then we can predict
that :
A. the extinction of organism has occurred
recently.
B. the extinction of organism has occurred
thousands of years ago .

C. the fossil position in the layers of earth

is not related to its time of extinction.


https://dl.doubtnut.com/l/_lwgrAIRwYp8W
https://dl.doubtnut.com/l/_ifQCvgVWWHW9

D. time of extinction cannot be determined.

Answer: B

° Watch Video Solution

15. Which of the following statement is not

true with respect to variation ?

A. All variations in a species have equal

chance of survival


https://dl.doubtnut.com/l/_ifQCvgVWWHW9
https://dl.doubtnut.com/l/_RWHx9IRjtF3k

B. Change in genetic composition results in

variation.

C. Selection of variants by environmental

factors forms the basis of evolutionary

processes.

D. Variation is minimum in asexual

reproduction.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_RWHx9IRjtF3k
https://dl.doubtnut.com/l/_aBQKpopxj8Md

16. A trait in an organism is influenced by

A. paternal DNA only.

B. maternal DNA only.

C. both maternal and paternal DNA

D. neither by paternal nor by maternal DNA

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_aBQKpopxj8Md

17. Select the group which shares maximum

number of common characters

A. two individuals of a species.

B. two species of a genus.

C. two genera of a family

D. two genera of two families

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_wwUWkojcwJLe
https://dl.doubtnut.com/l/_3I986JWfvWxq

18. According to the evolutionary theory,

formation of a new species is generally due to.

A. sudden creation by nature.

B. accumulation of variations over several

generations

C. clones formed during asexual

reproduction.

D. movement of individuals from one

habitat to another.

Answer: B


https://dl.doubtnut.com/l/_3I986JWfvWxq

O Watch Video Solution

19. From the list given below, select the

character which can be acquired but not

inherited

A. colour of eye.

B. colour of skin.

C.size of body

D. nature of hair

Answer: C


https://dl.doubtnut.com/l/_3I986JWfvWxq
https://dl.doubtnut.com/l/_Pw3aoMu6SqJ1

° Watch Video Solution

20. The two versions of a trait (character)

which are brought in by the male and female

gametes are situated on:

A. copies of the same chromosomes.

B. two different chromosomes

C. sex chromosomes.

D. any chromosome.

Answer: A


https://dl.doubtnut.com/l/_Pw3aoMu6SqJ1
https://dl.doubtnut.com/l/_MJ0RzTwIIX2Y

° Watch Video Solution

21. Select the statements that describe
characteristics of genes :

(i) genes are specific sequence of bases in a
DNA molecule

(ii) a gene does not code for proteins

(i) in individuals of a given species, a specific
gene is located on a particular chromosome

(iv) each chromosome has only one gene

A. (i) and (ii)


https://dl.doubtnut.com/l/_MJ0RzTwIIX2Y
https://dl.doubtnut.com/l/_xmcc9SspXZCv

B. (i) and (iii)

C. (i) and (iv)
D. (ii) and (iv)
Answer: B

o Watch Video Solution

22. In peas, a pure tall plant (TT) is corssed
with a short plant (tt). The ratio of pure tall

plants to short plants in F5 is


https://dl.doubtnut.com/l/_xmcc9SspXZCv
https://dl.doubtnut.com/l/_EyrGOeSVq1DQ

A1:3

B.3:1

C.1:1

D.2:1

Answer: C

0 Watch Video Solution

23. The number of pair(s) of sex chromosomes

in the zygote of humans is


https://dl.doubtnut.com/l/_EyrGOeSVq1DQ
https://dl.doubtnut.com/l/_cJqZllDP5pKj

A.one

B. two

C.three

D. four

Answer: A

° Watch Video Solution

24. The theory of evolution of species by

natural selection was given by


https://dl.doubtnut.com/l/_cJqZllDP5pKj
https://dl.doubtnut.com/l/_vRHTVESuqg7B

A. Mendel

B. Darwin

C. Morgan

D. Lamarck

Answer: B

o Watch Video Solution

25. Some dinosaurs had feathers although

they could not fly but birds have feathers that


https://dl.doubtnut.com/l/_vRHTVESuqg7B
https://dl.doubtnut.com/l/_xzy0t90rOJrC

help them to fly. In the context of evolution

this means that

A. reptiles have evolved from birds.

B.there is no evolutionary connection

between reptiles and birds.

C.feathers are homologous structures in

both the organisms.

D. birds have evolved from reptiles.

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_xzy0t90rOJrC

Ncert Exemplar Short Answer Questions

1. How is the sex of the child determined in

human beings?

o Watch Video Solution

2. Does genetic combination of mother play a
significant role in determining the of a new

born baby ?

| = 1


https://dl.doubtnut.com/l/_xzy0t90rOJrC
https://dl.doubtnut.com/l/_o1sxSVhkXNx4
https://dl.doubtnut.com/l/_BTMHrEpcOcSk

I &9 Watch Video Solution I

3. Mention three important features of fossils

which help in the study of evolutions

o Watch Video Solution

4. Why do all the gametes formed in human

females have an X - choromosome?

o Watch Video Solution



https://dl.doubtnut.com/l/_BTMHrEpcOcSk
https://dl.doubtnut.com/l/_UC8bUVRsGUZb
https://dl.doubtnut.com/l/_Ym2w37h7kCg8
https://dl.doubtnut.com/l/_nD9x26HCsymw

5.1n human being, the statistical probability of
getting either a male or frmale child is 50:50 .

Give a suitable explanation.

° Watch Video Solution

6. A very small population of a species faces a
greater threat of extinction than a large
population. Provide a sutiable genetic

explanation.

o Watch Video Solution



https://dl.doubtnut.com/l/_nD9x26HCsymw
https://dl.doubtnut.com/l/_fhDQdWiMouw0

7. What are homologous structure ? Given an
example. Is it necessary that homologous

structures always have a common ancestor ?

o Watch Video Solution

8. Does the occurrence of diversity of animals
on earth suggest their diverse ancestry also?

Discuss this point ih the light of evolution.

o Watch Video Solution



https://dl.doubtnut.com/l/_eUpoarjR5HIN
https://dl.doubtnut.com/l/_NvFSdTmoV5QZ
https://dl.doubtnut.com/l/_frb7pLDM7ePp

9. Given the pair of contrasting traits of the
following characters in pea plants and
mention which is dominant and recessive .

(1) yellow seed (ii) round seed.

° Watch Video Solution

10. Why did Mendel choose pea plants for his

experiments?

o Watch Video Solution



https://dl.doubtnut.com/l/_frb7pLDM7ePp
https://dl.doubtnut.com/l/_jhEwfZRhaoxP
https://dl.doubtnut.com/l/_0Klj7wKm3UVg

11. A woman has only daughters. Analyse the
situation genetically and provide a suitable

explanation.

o Watch Video Solution

Ncert Exemplar Long Answer Questions

1. Does geographical isolation of individuals of

a species lead to formation of a new species?

Provide a sutiable explanation.

° Watch Video Solution



https://dl.doubtnut.com/l/_0Klj7wKm3UVg
https://dl.doubtnut.com/l/_p2ujLHIzyU4c

2. Bacteria have a simpler body plan when
compared with human beings. Does it mean
that human beings are more evolved than

bacteria ? Explain your answer.

o Watch Video Solution

3. All the human reaces like Africans, Asians,
Europeans, Americans and otgher might have
evolved from a common ancestor. Provide a

few evidences in support of this view.


https://dl.doubtnut.com/l/_p2ujLHIzyU4c
https://dl.doubtnut.com/l/_GXQJ0SPiXoIM
https://dl.doubtnut.com/l/_f4FrLXaDPy2m

° Watch Video Solution

4. Differentiate between inherited and
acquired characters. Given one example for

each type.

° Watch Video Solution

5. Given reason why acuired characters are not

inherited.

o Watch Video Solution



https://dl.doubtnut.com/l/_f4FrLXaDPy2m
https://dl.doubtnut.com/l/_d7KqubGNrSnL
https://dl.doubtnut.com/l/_LvvcNzwBuSV9

6. Evoluation has exhibited a greater stability
of molecular structure when compared with
morphological structures. Comment on the

statement and justify your opinion.

° Watch Video Solution

7. In the following crosses write the
characteristics of the progeny a) RRYY X RRYY

b) RrYy X RrYy c¢) RRYY X rryy

l ° Watch Video Solution


https://dl.doubtnut.com/l/_LvvcNzwBuSV9
https://dl.doubtnut.com/l/_HxTl7JYfMFIc
https://dl.doubtnut.com/l/_rPvSyrjIUl1J

8. Study the following cross and showing self
pollination in F fill in the blank and answer

the question that follows

Farents REYY L Yy
Round, vellow  wrinkled. green
F, — RrYv i 7
Round. vellow

° Watch Video Solution

9. What are the combination of characters in

the F, progeny ? What are their ratios?


https://dl.doubtnut.com/l/_rPvSyrjIUl1J
https://dl.doubtnut.com/l/_X4o6JGJ9cmVa
https://dl.doubtnut.com/l/_lN5xnzn5iWWn

° Watch Video Solution

10. Given the basic features of the mechanism

of inheritance.

o Watch Video Solution

11. Given reasons for the appearance of new
combination of characters in the F, progeny

in question 45.

o Watch Video Solution



https://dl.doubtnut.com/l/_lN5xnzn5iWWn
https://dl.doubtnut.com/l/_WAeB2ofPo3C8
https://dl.doubtnut.com/l/_tsXH4PN311uO

Board Corner Very Short Answer Type Questions

1. A Mendelian experiment consisted of
breeding pea plants bearing violet flowers
with pea plants bearing white flowers. What

will be the results in F; progeny ?

° Watch Video Solution

2. When a cell reproduces, what happens to its

DNA ?


https://dl.doubtnut.com/l/_tsXH4PN311uO
https://dl.doubtnut.com/l/_MAqESUPylVMp
https://dl.doubtnut.com/l/_6wFlIg9AwK4B

° Watch Video Solution

3. Why is genetic variation important in the

plant Rauwolfia vomitoria ?

o Watch Video Solution

4. Newly formed DNA copies may not be

identical at times. Give one reason.

° Watch Video Solution



https://dl.doubtnut.com/l/_6wFlIg9AwK4B
https://dl.doubtnut.com/l/_qQC7Hwz5Kkjn
https://dl.doubtnut.com/l/_CfCyn4K9fy9l

Board Corner Short Answer Type Questions

1. Name the plant Mendel used for his
experiment. What type of progeny was
obtained

by Mendel in F; and F;, generations when he
crossed the tall and short plants? Write the It
brgt ratio he obtained in F (2) generation

plants.

° Watch Video Solution



https://dl.doubtnut.com/l/_VYJQZ9j75SvG

2. List two differences between acquired traits
and inherited traits by giving an example of

each.

o Watch Video Solution

3. Explain with the help of an example each
how the following provide evidences in favour
of evolution :

(a) Homologous organs


https://dl.doubtnut.com/l/_A7hkNBO8f2lt
https://dl.doubtnut.com/l/_Zy54K2W8HgNV

(b) Analogous organs

(c) Fossils

° Watch Video Solution

4. Mention the total number of chromosomes
along with the sex chromosomes that are
present in a human female and a human male.
Explain how in sexually producing organisms
the number of chromosomes in the progeny

remains the same as that of the parents.

° Watch Video Solution



https://dl.doubtnut.com/l/_Zy54K2W8HgNV
https://dl.doubtnut.com/l/_di0AhVALR0xT

5. "Natural selection and speciation leads to

evolution." Justify this statement.

° Watch Video Solution

6. How do Mendel’s experiments show that

traits are inherited independently?

o Watch Video Solution



https://dl.doubtnut.com/l/_di0AhVALR0xT
https://dl.doubtnut.com/l/_FKSSPXIQlBnV
https://dl.doubtnut.com/l/_QnCx7RJT5SFH

7. How did Mendel explain that it is possible
that a trait is inherited but not expressed in

an organism ?

o Watch Video Solution

8. How are the areas of study - evolution and

classification - interlinked?

° Watch Video Solution



https://dl.doubtnut.com/l/_t6ka8ICErZMh
https://dl.doubtnut.com/l/_gv5RrC3T7GGN

9. With the help of two suitable examples,
explain why certain experiences and traits
earned by people during their lifetime are not
passed on to their next generations. When can

such traits be passed on?

o Watch Video Solution

10. What is an organic evolution ? It cannot be
equated with progress. Explain with the help

of a suitable example.

| & I


https://dl.doubtnut.com/l/_2yZnzTtxEwl7
https://dl.doubtnut.com/l/_ocpLQVELbE2Y

| ¥ Watch Video Solution |

Board Corner Long Answer Type Questions

1. (a) What are homologous structures? Give
an example.

(b) "The sex of a newborn child is a matter of
chance and none of the parents may be
considered responsible for it." Justify this
statement with the help of a flow chart

showing sex-determination in human beings.

° Watch Video Solution



https://dl.doubtnut.com/l/_ocpLQVELbE2Y
https://dl.doubtnut.com/l/_JNKlAnWxwBYM

2. What are dominant and recessive traits ? (b)
"Is it possible that a trait is inherited but may
not be expressed in the next generation ?"
Give a suitable example to justify this

statement.

° Watch Video Solution

3.(a) How do Mendel's experiments show that

traits may be dominant or recessive ?


https://dl.doubtnut.com/l/_JNKlAnWxwBYM
https://dl.doubtnut.com/l/_OXAofXTcX2iE
https://dl.doubtnut.com/l/_P3WhC671wxnY

(b) How do Mendel's experiments show that

traits are inherited independently ?

o Watch Video Solution

4. With the help of one example for each,
distinguish between the acquired traits and
the inherited traits.

Why are the traits/experiences acquired
during the entire lifetime of an individual not
inherited in the next generation? Explain the

reason of this fact with an example.

| |


https://dl.doubtnut.com/l/_P3WhC671wxnY
https://dl.doubtnut.com/l/_sNgRWpnpyxDC

& watch Video Solution ]

Multiple Choice Questions

1. What according to Mendel , was responsible

for the inheritance of specific traits ?

A. Genes

B. Factors

C. Chromosomes

D. DNA


https://dl.doubtnut.com/l/_sNgRWpnpyxDC
https://dl.doubtnut.com/l/_aNt8Zn9VTKQn

Answer: B

o View Text Solution

2. What branch of biology focuses on the

study of patterns of inheritance ?

A. Genetics

B. Immunology

C. Evolution

D. Ecology


https://dl.doubtnut.com/l/_aNt8Zn9VTKQn
https://dl.doubtnut.com/l/_tQoqiKMAJDyh

Answer: A

o View Text Solution

3. What determines the differences between

the progeny and parents ?

A. Inheritance

B. Heritage

C. Genetics

D. Variation


https://dl.doubtnut.com/l/_tQoqiKMAJDyh
https://dl.doubtnut.com/l/_gVRG2GipwKUR

Answer: D

o View Text Solution

4. The phenomenon where individuals of a

species exhibit differences in characteristics

are called :

A. Adaptation

B. Evolution

C. Variation

D. All of these


https://dl.doubtnut.com/l/_gVRG2GipwKUR
https://dl.doubtnut.com/l/_bnRYO5ddVN6T

Answer: C

o View Text Solution

5. Which of the following statement is

incorrect ?

A. Gene is sequence of nucleotides

B. During the process of gene expression

,DNA is first copied into RNA


https://dl.doubtnut.com/l/_bnRYO5ddVN6T
https://dl.doubtnut.com/l/_QoTqJkLauPjT

C. Genes can acquire mutations in their

sequence.

D. Genes can acquire mutations in their

sequence.

Answer: D

o View Text Solution

6. Which part of the DNA provides information

forr a protein ?


https://dl.doubtnut.com/l/_QoTqJkLauPjT
https://dl.doubtnut.com/l/_4P1ROfMQbyAO

A. Chromosome

B. Mitochondria

C. RNA

D. Gene

Answer: D

° View Text Solution

7. Which of the following is controlled by

genes ?


https://dl.doubtnut.com/l/_4P1ROfMQbyAO
https://dl.doubtnut.com/l/_YV6XhI3HfxQI

A. Eye colour

B. Height

C. Hair colour

D. All of these

Answer: C

o View Text Solution

8. The discipline of Biology that deals with the

study of inheritances is


https://dl.doubtnut.com/l/_YV6XhI3HfxQI
https://dl.doubtnut.com/l/_AAb5f5w8eMUM

A. Cytology

B. Evolution

C. Genetics

D. Morphology

Answer: C

° View Text Solution

9. Germinal variations are those variations

which


https://dl.doubtnut.com/l/_AAb5f5w8eMUM
https://dl.doubtnut.com/l/_MZxMOcalNTq1

A. are inheritable

B. affect only somatic cells

C. are not inheritable

D. None of the above

Answer: A

o View Text Solution

10. When a gene exists in morre than one

forrm , the different forms are terms as


https://dl.doubtnut.com/l/_MZxMOcalNTq1
https://dl.doubtnut.com/l/_rBI75RQs0T2W

A. alleles

B. heterozygotes

C. genotypes

D. homozygotes

Answer: A

o View Text Solution

11. The terms 'genotype' and 'phenotype’ were

coined by


https://dl.doubtnut.com/l/_rBI75RQs0T2W
https://dl.doubtnut.com/l/_jqDiOabUWQjA

A. Darwin

B. Bateson

C.Johannsen

D. Mendel

Answer: C

o View Text Solution

12. Two pink coloured flowers on crossing
resulted in 1 red , 2 pink and 1 white flower

progeny .The nature of the cross will be :


https://dl.doubtnut.com/l/_jqDiOabUWQjA
https://dl.doubtnut.com/l/_cB2I34YiiIpC

A. double fertilisation

B. self pollination

C. cross fertilisation

D. no fertilisation

Answer: C

o View Text Solution

13. Which of the following statement is true ?


https://dl.doubtnut.com/l/_cB2I34YiiIpC
https://dl.doubtnut.com/l/_bI7od9BdIU2s

A. The characteristics or traits of parents

are transmitted to their progeny

(offspring ) through genes present on

their chromosomes during the process

of sexual reproduction

B. The genes which dominate other genes

are called dominant genes and the

genes which get dominated are called

recessive genes .


https://dl.doubtnut.com/l/_bI7od9BdIU2s

C.The progeny inherits two genes forr

each trait from its parent but the traits

shown by the progeny depends on which

inherited gene is dominant of the two .

D. All of the above

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_bI7od9BdIU2s

14. Dominant alleles are expressed exclusively
in a heterozygote ,while recessive traits are
expressed only if the organismis ......... for
the recessive allele.

A. homozygous

B. heterozygous

C. normal

D. none of these

Answer: A

‘ ° \iawr TavE CAaliikian



https://dl.doubtnut.com/l/_GFS6T5PGiBEA
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15. From the list given below select the

character which can be acquired but not

inherited .

A. Colour of eye

B. Colour of skin

C. Size of body

D. Nature of hair

Answer: C

| s ]


https://dl.doubtnut.com/l/_GFS6T5PGiBEA
https://dl.doubtnut.com/l/_vK88xuz18kWV

¥ View Text Solution ]

16. Select the group which shares maximum

number of common characters .

A. Two individuals of a species

B. Two species of a genus

C. Two genera of a family

D. Two genera of two families

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_vK88xuz18kWV
https://dl.doubtnut.com/l/_5quNvU6sPtvR

17. A Mendelian experiment consisted of
breeding tall pea plants bearing violet flowers
with short pea plants bearing white flowers
.The progeny all bore violet flowers but almost
half of them were short . This suggests that
the genetic make-up of the tall parent can be

depicted as :

A. TTWW
B. Tlww

C. TtWW


https://dl.doubtnut.com/l/_5quNvU6sPtvR
https://dl.doubtnut.com/l/_bB5CkELaOjHq

D. TtWw

Answer: C

° View Text Solution

18. A cross between a tall plant (TT) an short

pea plant (tt) resulted in progeny that were all

tall plants because:

A. tallness is the dominant trait

B. shortness is the dominant trait


https://dl.doubtnut.com/l/_bB5CkELaOjHq
https://dl.doubtnut.com/l/_F5oHZvWgefKj

C. tallness is the recessive trait

D. height of pea plant is nor governed by

gene T' or 't

Answer: A

o View Text Solution

19. The process where characteristics are

transmitted from parent to offspring is called :

A. Variation


https://dl.doubtnut.com/l/_F5oHZvWgefKj
https://dl.doubtnut.com/l/_Ex68NT0wgRwT

B. Heredity

C. Gene

D. Allele

Answer: A

o View Text Solution

20. is the observable set of

characteristics of an organism .

A. Phenotype


https://dl.doubtnut.com/l/_Ex68NT0wgRwT
https://dl.doubtnut.com/l/_0buuC9LbhpJs

B. Genes

C. DNA

D. All of these

Answer: A

o View Text Solution

21. When a new plant is formed as a result of
corss pollination from different varieties of a

plant , the newly formed plant is called :


https://dl.doubtnut.com/l/_0buuC9LbhpJs
https://dl.doubtnut.com/l/_AMlROwI13GvF

A. Dominant plant

B. Mutant plant

C. Hybrid plant

D. All of these

Answer: A

o View Text Solution

22. Which of the following is a recessive trait

in pea plants ?


https://dl.doubtnut.com/l/_AMlROwI13GvF
https://dl.doubtnut.com/l/_OIjqwnOcLt32

A. Dwarf stem height

B. Violet flowers

C. Axial flowers

D. Inflated pods

Answer: A

o View Text Solution

23. If you were to sample garden pea plants in
Mendel's garden , which of the following

statements would hold ?


https://dl.doubtnut.com/l/_OIjqwnOcLt32
https://dl.doubtnut.com/l/_Mhv4H3DO3SqZ

A. Round seeds were more abundant than

wrinkled seeds

B. Wrinkled seeds were more abundant

than round seeds

C.Both round and wrinkled seeds were

equally abundant

D. Answer depends on the time of day

when sampling is done.

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_Mhv4H3DO3SqZ

24. Which of the following can be inherited

from parents to offspring ?

A. Swimming technique

B. Big nose

C. Sculpted body

D. All of the above

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_Mhv4H3DO3SqZ
https://dl.doubtnut.com/l/_UDZX0h63piIo

25. Which of the following is an example of

genetic variation ?

A.One person has a scar but his friend

does not .

B. One person is older than the other

C. Reeta eats meat but her sister Geeta is a

vegetarian

D. Two children have different eye colour .

Answer: D



https://dl.doubtnut.com/l/_XphykqiluvOM

I 0 View Text Solution I

26. In peas ,a pure tall (TT) is crossed with a
pure short plant (tt) .The ratio of pure tall

plants to pure short plants in F; generation is

Al1:3

B.3:1

C.1:1

D.2:1


https://dl.doubtnut.com/l/_XphykqiluvOM
https://dl.doubtnut.com/l/_Xd1bSYM6LKhw

Answer: C

o View Text Solution

27. Humans have two different sex
chromosomes X and Y . Based on Mendel's
laws , a male offspring will inherit which

combination of chromosomes ?

A. Both the X chromosomes from one of its

parents


https://dl.doubtnut.com/l/_Xd1bSYM6LKhw
https://dl.doubtnut.com/l/_IZ6yWQxt6Iag

B. Both the Y chromosomes from one of its

parents

C. Combination of X chromosomes from

either of its parents

D. Combination of X and Y chromosome

from either of its parents

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_IZ6yWQxt6Iag

28. Two pea plant one with round green seeds
(Rryy) and another with wrinkled yellow (rrYY)
seeds produce F; progeny that have round
yellow (RrYy) seeds. When F; plants are self
pollinated , the F3 progeny will have a new
combination from the following.

(i) Round,yellow (ii) Round,green (iii) Wrinkled

,yellow (iv) Wrinkled ,green

A. (i) and (ii)

B. (i)and (iv)

C. (ii) and (iii)


https://dl.doubtnut.com/l/_dBhGGLFbcQzc

D. (i) and (iii)

Answer: B

° View Text Solution

29. If Mendel would have carried out cross
pollination of a pea plant having tt trait with
pea plant having TT trait then the F1 progeny

would have been ?

A. Two dwarf and Two tall plant


https://dl.doubtnut.com/l/_dBhGGLFbcQzc
https://dl.doubtnut.com/l/_AUs4htylwcY2

B. One dwarf and three tall plant

C. All tall

D. All dwarf

Answer: A

o View Text Solution

30. Mendel conducted his experiments with

A. chick pea

B. garden pea


https://dl.doubtnut.com/l/_AUs4htylwcY2
https://dl.doubtnut.com/l/_hCdehLdJ12qt

C. wild pea

D. pigeon pea

Answer: B

o View Text Solution

31. A pea plant with around and green seeds
(RRyy) is crossed .What would be the nature of

seeds in the first generation (F1 generation ).

A. Round green


https://dl.doubtnut.com/l/_hCdehLdJ12qt
https://dl.doubtnut.com/l/_DcIaGu25NFXx

B. Wrinkled green

C. Wrinkled yellow

D. Round yellow

Answer: D

o View Text Solution

32. A group of laboratory mice having tails are
bred together and their progeny is studied
.The progeny had tails . However, the scientist

removed the tails surgically and again bred


https://dl.doubtnut.com/l/_DcIaGu25NFXx
https://dl.doubtnut.com/l/_LzNRLBguoFju

them for four successive generations .In your

opinion , what would be the nature of the new

progeny ?

A. All mice born will have tails

B. All mice born have no tails

C. The ratio of tailness to the mice will be

1:3

D. The ratio of tailness mice will be 1:4

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_LzNRLBguoFju

33. When a cross is made between two parents

with respect to a single character, it is called a

A. dlhybrid cross

B. monohybrid cross

C. trihybrid cross

D. None of these

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_LzNRLBguoFju
https://dl.doubtnut.com/l/_pn3YbtuUB286

34.The genotype of the offspring formed from

the cross depicted as Tt x tt will be

A.TT and tt

B. Tt and tt

C.Only tt

D.Only TT

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_3lWFGFZXIQ7B
https://dl.doubtnut.com/l/_MWb4jre94LOT

35. Which of the following statements is not

true with respect to variations ?

A. All variations in a species have equal

chances of survival

B. Change in genetic composition results in

variation

C. Selection of variants by environmental

factors forms the basis of evolutionary

processes


https://dl.doubtnut.com/l/_MWb4jre94LOT

D. Variation is minimum in asexual

reproduction .

Answer: A

o View Text Solution

36. According to Mendel , the genotypic ratio

of F2 generation in a monohybrid cross is

A 3:1

B.9:3:3:1


https://dl.doubtnut.com/l/_MWb4jre94LOT
https://dl.doubtnut.com/l/_e4oAnLpJ4iPW

C.1:1

D.1:2:1

Answer: D

o View Text Solution

37.Recessive genes can be expressed only in

A. homozygous condition

B. heterozygous condition

C. Both of the above conditions


https://dl.doubtnut.com/l/_e4oAnLpJ4iPW
https://dl.doubtnut.com/l/_K0v8kJDNR1cu

D. None of the above conditions

Answer: A

° View Text Solution

38. Given the above information ,what is
expected phenotypic ratio of plants with

different flower colours in F2?

A. All plants will be with red flowers


https://dl.doubtnut.com/l/_K0v8kJDNR1cu
https://dl.doubtnut.com/l/_CD6daIPgXicm

B. Red: White flowers will be in the ratio of

3:1

C. Pink : White flowers will be in the ratio of

3:1

D. Red :Pink : White flowers will be in the

ratioof1:2:1

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_CD6daIPgXicm

39. The sex of the child depends on the

chromosomes present in the

A. egg of the female

B. sperm of the male

C. Both (a) and (b)

D. None of these

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_auxe2d3IyMlG
https://dl.doubtnut.com/l/_N0OrNo8aixz3

40. Which of the following conditions of the

zygote would lead to the birth of the normal

human female child ?

A. Two X chromosomes

B. Only one Y chromosome

C. Only one X chromosome

D. One X and one Y chromosome

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_N0OrNo8aixz3
https://dl.doubtnut.com/l/_Ex738U82mv84

41. In humans ,sex determination is controlled

by

A. allosomes

B. autosomes

C. temperature

D. All of the above

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_Ex738U82mv84

42. In humans, the sex Chromosomes
comprises one pair of the total of 23 pairs of
chromosomes .The other 22 pairs of
chromosome are called :

A. autosomes

B. chromosomes

C. meiosis

D. all of these

Answer: A

‘ ° \iawr TavE CAaliikian



https://dl.doubtnut.com/l/_RSnts3otPW7O
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43. The number of pairs of sex chromosomes

in the zygote of humans is :

Al

B.2

C.3

D.4

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_RSnts3otPW7O
https://dl.doubtnut.com/l/_uz2qsXGgBKiR

44. In human males all the chromosomes are
paired perfectly except one . These unpaired
chromosomes are :

(i)Large chromosome (ii) Small chromosome

(iii) Y-chromosome (iv) X-chromosome .

A. (1),(i1)

B. (iii)only

C. (iii),(iv)

D. (ii),(iv)


https://dl.doubtnut.com/l/_uz2qsXGgBKiR
https://dl.doubtnut.com/l/_fNF1q8O3uGJL

Answer: A

o View Text Solution

45. Which chromosomes do not plant any role

in the determination of the sex of an

individual ?

A. Autosomes

B. Metacentric chromosomes

C. Acrocentric chromosomes

D. None of the above


https://dl.doubtnut.com/l/_fNF1q8O3uGJL
https://dl.doubtnut.com/l/_HjiU4zIcm3Gz

Answer: C

o View Text Solution

46. The two versions of a trait which are

brought in by the male and female gemetes ar

situated on :

A. copies of the same chromosome

B. two different chromosomes

C. sex chromosomes

D. any chromosomes


https://dl.doubtnut.com/l/_HjiU4zIcm3Gz
https://dl.doubtnut.com/l/_40epGkZFvG29

Answer: A

o View Text Solution

47. In human males , all the chromosomes are
paired perfectly except one . This/these
unpaired chromosome is/are

(i)

(ii) small chromosomes

(iii) Y-chromosome

(iv) X-chromosome


https://dl.doubtnut.com/l/_40epGkZFvG29
https://dl.doubtnut.com/l/_eEaUOm2KbODk

A. (i) and (ii)

B. (iii)only

C. (ii)and (iv)

D. (ii) and (iv)

Answer: C

o View Text Solution

48. The maleness of a child is determined by ?

A. the X-chromosme in the zygote


https://dl.doubtnut.com/l/_eEaUOm2KbODk
https://dl.doubtnut.com/l/_J06s0V5AINmB

B. the Y-chromosome in zygote

C.the cytoplasm of germ cell which

determines the sex.

D. sex is determined by chance

Answer: B

o View Text Solution

49. A zygote which has an X - chromosome

inherited from the father will develop into a


https://dl.doubtnut.com/l/_J06s0V5AINmB
https://dl.doubtnut.com/l/_pxOmJxp0N7tm

A. boy

B. girl

C. X-chromosome does not determine the

sex of child

D. either boy or girl

Answer: B

° View Text Solution

Assertion And Reasoning Based Questions


https://dl.doubtnut.com/l/_pxOmJxp0N7tm
https://dl.doubtnut.com/l/_9PDbp7MgkfKq

1. Assertion :Changes in non - reproductive

tissues can be passed on the DNA of the germ

cells .

Reason :Inherited traits include the traits

developed during the lifetime of an individual

that cannot be passed on the its progeny.

A.If both assertion and reason are true

and reason is the correct explanation of
assertion.

B.If both assertion and reason are true ,

but reason is not the correct


https://dl.doubtnut.com/l/_9PDbp7MgkfKq

explanation of assertion.

C. If assertion is true, but reason is false .

D. If assertion is false , but reason is true.

Answer: D

o View Text Solution

2. Reason :lt is represented by capital letter ,
e.g., T
Assertion : Variations are seen in offspring

produced by sexual reproduction .


https://dl.doubtnut.com/l/_9PDbp7MgkfKq
https://dl.doubtnut.com/l/_kKBWybEZBcyj

Reason :DNA molecule generated by

replication is not exactly indentical to original

DNA.

A.If both assertion and reason are true

and reason is the correct explanation of

assertion.

B. If both assertion and reason are true ,

but reason is not the correct

explanation of assertion.

C. If assertion is true , but reason is false .


https://dl.doubtnut.com/l/_kKBWybEZBcyj

D. If assertion is false , but reason is true.

Answer: D

o View Text Solution

3. Reason : Genotype is the type of hereditary

properties of an organism .

A.If both assertion and reason are true

and reason is the correct explanation of

assertion.


https://dl.doubtnut.com/l/_kKBWybEZBcyj
https://dl.doubtnut.com/l/_sfxfITntB2Nu

B. If both assertion and reason are true ,

but reason is not the correct

explanation of assertion.

C. If assertion is true, but reason is false .

D. If assertion is false , but reason is true.

Answer: B

o View Text Solution

4. Reason : Acquired traits are not inherited .


https://dl.doubtnut.com/l/_sfxfITntB2Nu
https://dl.doubtnut.com/l/_ymJnqrVrRfK5

A.If both assertion and reason are true

and reason is the correct explanation of

assertion.

B. If both assertion and reason are true ,

but reason is not the correct

explanation of assertion.

C. If assertion is true, but reason is false .

D. If assertion is false , but reason is true.

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_ymJnqrVrRfK5

5. Assertion :Dominant allele is an allele whose
phenotype expresses even in the presence of
another allele of that gene..

Reason :lt is represented by a capital letter

e.g.T.

A.If both assertion and reason are true

and reason is the correct explanation of

assertion.


https://dl.doubtnut.com/l/_ymJnqrVrRfK5
https://dl.doubtnut.com/l/_sJtIortLi8jV

B. If both assertion and reason are true ,

but reason is not the correct

explanation of assertion.

C. If assertion is true, but reason is false .

D. If assertion is false , but reason is true.

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_sJtIortLi8jV

6. Assertion : Mendel was successful in his

hybridisation experiments .

Reason : Garden pea proved as an ideal

experimental material .

A.If both assertion and reason are true

and reason is the correct explanation of

assertion.

B. If both assertion and reason are true ,

but reason is not the correct

explanation of assertion.


https://dl.doubtnut.com/l/_5i1VHZFjaQZ6

C. If assertion is true, but reason is false .

D. If assertion is false , but reason is true.

Answer: A

o View Text Solution

7. Assertion : Dominant allels is an allele whose
phenotype expresses even in the presence of

another allele of that gene..


https://dl.doubtnut.com/l/_5i1VHZFjaQZ6
https://dl.doubtnut.com/l/_WC1sjJkAZY7w

A.If both assertion and reason are true

and reason is the correct explanation of

assertion.

B. If both assertion and reason are true ,

but reason is not the correct

explanation of assertion.

C. If assertion is true, but reason is false .

D. If assertion is false , but reason is true.

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_WC1sjJkAZY7w

8. Assertion : Chromosomes are capable of
self-reproduction and maintaining
morphological and physiological properties
through successive generations .

Reason : Chromosomes are capable of self
reproduction and maintaning morphological
and  physiological properties  through

successive generations .

A.If both assertion and reason are true

and reason is the correct explanation of


https://dl.doubtnut.com/l/_WC1sjJkAZY7w
https://dl.doubtnut.com/l/_hF0EsDMZ4hFv

assertion.

B.If both assertion and reason are true ,

but reason is not the correct

explanation of assertion.

C. If assertion is true, but reason is false .

D. If assertion is false , but reason is true.

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_hF0EsDMZ4hFv

9. Assertion :Mendel selected the pea plant for

his experiments .

Reason : Pea plant is cross - pollinating and

has unisexual flowers .

A.If both assertion and reason are true

and reason is the correct explanation of

assertion.

B. If both assertion and reason are true ,

but reason is not the correct

explanation of assertion.


https://dl.doubtnut.com/l/_xdOhZCJOP9aq

C. If assertion is true, but reason is false .

D. If assertion is false , but reason is true.

Answer: A

o View Text Solution

10. Assertion : Mendel self-crossed Fj yellow
with round seeds to obtain F); generation .
Reason :F; prgeny of a yellow with round

seeds and a green with wrinkled seeds . s


https://dl.doubtnut.com/l/_xdOhZCJOP9aq
https://dl.doubtnut.com/l/_rk4PXlHCYRFw

A.If both assertion and reason are true

and reason is the correct explanation of

assertion.

B. If both assertion and reason are true ,

but reason is not the correct

explanation of assertion.

C. If assertion is true, but reason is false .

D. If assertion is false , but reason is true.

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_rk4PXlHCYRFw

11. Asserton : A geneticist crossed two pea

plants got 50 % tall and 50 % dwarf in the
progeny .
Reason :One plants was heterozygous tall and
the other was dwarf.

A.If both assertion and reason are true

and reason is the correct explanation of

assertion.


https://dl.doubtnut.com/l/_rk4PXlHCYRFw
https://dl.doubtnut.com/l/_RugigNGammw7

B. If both assertion and reason are true ,

but reason is not the correct

explanation of assertion.

C. If assertion is true, but reason is false .

D. If assertion is false , but reason is true.

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_RugigNGammw7

12. Assertion :The low of independent
assortment can be studies by maeas off
dihybrid cross.
Reason :The law of independent assortment is
applicabl only to linked genes .
A.If both assertion and reason are true
and reason is the correct explanation of
assertion.

B. If both assertion and reason are true ,

but reason is not the correct


https://dl.doubtnut.com/l/_YSFbJBsLOw9W

explanation of assertion.

C. If assertion is true, but reason is false .

D. If assertion is false , but reason is true.

Answer: C

o View Text Solution

13. Assertion : The sex of the children will be
determined by chromosome received from the

father.


https://dl.doubtnut.com/l/_YSFbJBsLOw9W
https://dl.doubtnut.com/l/_KMUD9VizhQnb

Reason : A human male has one X and one Y

chromosome.

A.If both assertion and reason are true

and reason is the correct explanation of

assertion.

B. If both assertion and reason are true ,

but reason is not the correct

explanation of assertion.

C. If assertion is true, but reason is false .

D. If assertion is false , but reason is true.


https://dl.doubtnut.com/l/_KMUD9VizhQnb

Answer: A

o View Text Solution

Case Based Questions

1. Read the passage carefully and answer the

following questions

If a child inherits X - chromosome from the
father will be a girl and one who inherits a Y -
chromosome will be a boy .Thus , both

assertion and reason are true and reason is


https://dl.doubtnut.com/l/_KMUD9VizhQnb
https://dl.doubtnut.com/l/_DitqZ7zHktf6

the correct explanation of assertion .

Read the passage carefully and answer the
following questions .

Heredity is the passing on of some specific
characteristics from one generation to the
next, from parent to offspring. The traits are
passed on by genes in our DNA A gene gives
instructions about making a certain protein to
determine a trait for the person like the colour
of eyes or hair .The genes are located inside a
DNA molecule which is a material found in
chromosomes .Genes may be deminant or

recessive .


https://dl.doubtnut.com/l/_DitqZ7zHktf6

What was the model organism used by Mendel

to give the laws of inheritance ?

A. Garden peas

B. Wild peas

C. basket peas

D. Bottle gourd

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_DitqZ7zHktf6

2. Read the passage carefully and answer the
following questions

If a child inherits X - chromosome from the
father will be a girl and one who inherits a Y -
chromosome will be a boy .Thus , both
assertion and reason are true and reason is
the correct explanation of assertion .

Read the passage carefully and answer the
following questions .

Heredity is the passing on of some specific
characteristics from one generation to the

next, from parent to offspring. The traits are


https://dl.doubtnut.com/l/_GiCGtFF6z0iU

passed on by genes in our DNA .A gene gives
instructions about making a certain protein to
determine a trait for the person like the colour
of eyes or hair .The genes are located inside a
DNA molecule which is a material found in
chromosomes .Genes may be deminant or
recessive .

What was the model organism used by Mendel

to give the laws of inheritance ?

A. girl

B. boy

C. either boy or girl


https://dl.doubtnut.com/l/_GiCGtFF6z0iU

D. X - chromosome does not influence the

sex of a child .

Answer: A

o View Text Solution

3. Read the passage carefully and answer the
following questions

If a child inherits X - chromosome from the
father will be a girl and one who inherits a Y -

chromosome will be a boy .Thus , both


https://dl.doubtnut.com/l/_GiCGtFF6z0iU
https://dl.doubtnut.com/l/_Zfp5FxO2zUJq

assertion and reason are true and reason is
the correct explanation of assertion .

Read the passage carefully and answer the
following questions .

Heredity is the passing on of some specific
characteristics from one generation to the
next, from parent to offspring. The traits are
passed on by genes in our DNA A gene gives
instructions about making a certain protein to
determine a trait for the person like the colour
of eyes or hair .The genes are located inside a
DNA molecule which is a material found in

chromosomes .Genes may be deminant or


https://dl.doubtnut.com/l/_Zfp5FxO2zUJq

recessive .

What was the model organism used by Mendel

to give the laws of inheritance ?

A. dominant

B. recessive

C. gene

D. Allele

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_Zfp5FxO2zUJq
https://dl.doubtnut.com/l/_sZT3LeII3Q6f

4. Read the passage carefully and answer the
following questions

If a child inherits X - chromosome from the
father will be a girl and one who inherits a Y -
chromosome will be a boy .Thus , both
assertion and reason are true and reason is
the correct explanation of assertion .

Read the passage carefully and answer the
following questions .

Heredity is the passing on of some specific
characteristics from one generation to the

next, from parent to offspring. The traits are


https://dl.doubtnut.com/l/_sZT3LeII3Q6f

passed on by genes in our DNA .A gene gives
instructions about making a certain protein to
determine a trait for the person like the colour
of eyes or hair .The genes are located inside a
DNA molecule which is a material found in
chromosomes .Genes may be deminant or
recessive .

What was the model organism used by Mendel

to give the laws of inheritance ?

A. Genetics

B. Evolution

C. Offspring analysis


https://dl.doubtnut.com/l/_sZT3LeII3Q6f

D. Genetical analysis

Answer: A

o View Text Solution

5. Read the passage carefully and answer the
following questions

If a child inherits X - chromosome from the
father will be a girl and one who inherits a Y -
chromosome will be a boy .Thus , both

assertion and reason are true and reason is


https://dl.doubtnut.com/l/_sZT3LeII3Q6f
https://dl.doubtnut.com/l/_s5Op78qEpnmz

the correct explanation of assertion .

Read the passage carefully and answer the
following questions .

Heredity is the passing on of some specific
characteristics from one generation to the
next, from parent to offspring. The traits are
passed on by genes in our DNA .A gene gives
instructions about making a certain protein to
determine a trait for the person like the colour
of eyes or hair .The genes are located inside a
DNA molecule which is a material found in
chromosomes .Genes may be deminant or

recessive .


https://dl.doubtnut.com/l/_s5Op78qEpnmz

What was the model organism used by Mendel

to give the laws of inheritance ?

A. dominant

B. recessive

C. recession

D. Allele

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_s5Op78qEpnmz

6. Read the passage carefully and answer the
following questions

The study of heredity is called genetics .Traits
are characteristics such as hair colour ,eye
colour , artistic or athletic ,height and more
Every living organism , plant , or animal ,
receives its characteristics or traits from its
parents .In plants these traits may include
seed colour ,flower position , length of stem ,
and much more . The first person to discover
of stem , and much more . The first person to

discover this passing of traits was a scientist


https://dl.doubtnut.com/l/_9c8ej3ozVNt3

named gregor Mendel . He is considered as
the father of genetis .He studied pea plants
and discovered that certain traits were passed
on, or inherited from parent to ofspring .

Pure -breed pea plant A is crossed with pure -
breed pea plant B . It is found that the plants
which look like A do not appear in Fj
generation but re-emerge inF; generation

Which of the plants A and B are tall and dwarf

?

A. A are tall and B are dwarf

B. A are tall and B are also dwarf


https://dl.doubtnut.com/l/_9c8ej3ozVNt3

C. A are dwarf and B are also dwarf

D. A are dwarf and B are tall .

Answer: D

o View Text Solution

7. Read the passage carefully and answer the
following questions

The study of heredity is called genetics .Traits
are characteristics such as hair colour ,eye

colour , artistic or athletic ,height and more


https://dl.doubtnut.com/l/_9c8ej3ozVNt3
https://dl.doubtnut.com/l/_H6P43O4DfzFm

Every living organism , plant , or animal ,
receives its characteristics or traits from its
parents .In plants these traits may include
seed colour [flower position , length of stem ,
and much more . The first person to discover
of stem , and much more . The first person to
discover this passing of traits was a scientist
named gregor Mendel . He is considered as
the father of genetis .He studied pea plants
and discovered that certain traits were passed
on, or inherited from parent to ofspring .

In humans if gene B gives brown eyes and


https://dl.doubtnut.com/l/_H6P43O4DfzFm

gene b gives blue eyes , what will be the colour

of eyes of the persons having combinations ?

A. (i) Blue and (ii) Brown

B. (i) Brown and (ii) Blue

C. (i) Brown and (ii) Brown

D. (i) Blue and(ii) Blue

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_H6P43O4DfzFm

8. Read the passage carefully and answer the
following questions

The study of heredity is called genetics .Traits
are characteristics such as hair colour ,eye
colour , artistic or athletic ,height and more
Every living organism , plant , or animal ,
receives its characteristics or traits from its
parents .In plants these traits may include
seed colour ,flower position , length of stem ,
and much more . The first person to discover
of stem , and much more . The first person to

discover this passing of traits was a scientist


https://dl.doubtnut.com/l/_fAe0c7wx5tXP

named gregor Mendel . He is considered as
the father of genetis .He studied pea plants
and discovered that certain traits were passed
on, or inherited from parent to ofspring .

If a round , green seeded pea plant (RRyy) is
crossed with a wrinkled yellow seeded pea
plant (rrYY) , the seeds produced in F}

generation are :

A. round and green

B. round and yellow

C. wrinkled and green


https://dl.doubtnut.com/l/_fAe0c7wx5tXP

D. wrinkled and yellow

Answer: B

o View Text Solution

9. Read the passage carefully and answer the
following questions

The study of heredity is called genetics .Traits
are characteristics such as hair colour ,eye
colour , artistic or athletic ,height and more

Every living organism , plant , or animal ,


https://dl.doubtnut.com/l/_fAe0c7wx5tXP
https://dl.doubtnut.com/l/_e0Dp6U9BldPl

receives its characteristics or traits from its
parents .In plants these traits may include
seed colour ,flower position , length of stem ,
and much more . The first person to discover
of stem , and much more . The first person to
discover this passing of traits was a scientist
named gregor Mendel . He is considered as
the father of genetis .He studied pea plants
and discovered that certain traits were passed
on, or inherited from parent to ofspring .

A cross between two individuals results in a
ratio of 9: 3: 3: 1 for four possible phenotypes

of progeny . This is an example of a:


https://dl.doubtnut.com/l/_e0Dp6U9BldPl

A. Monohybrid cross

B. Dihybrid cross

C. Test cross

D. Fgeneration

Answer: B

o View Text Solution

10. Read the passage carefully and answer the
following questions

The study of heredity is called genetics .Traits


https://dl.doubtnut.com/l/_e0Dp6U9BldPl
https://dl.doubtnut.com/l/_QgHndlzfabik

are characteristics such as hair colour ,eye
colour , artistic or athletic ,height and more
Every living organism , plant , or animal ,
receives its characteristics or traits from its
parents .In plants these traits may include
seed colour [flower position , length of stem ,
and much more . The first person to discover
of stem , and much more . The first person to
discover this passing of traits was a scientist
named gregor Mendel . He is considered as
the father of genetis .He studied pea plants
and discovered that certain traits were passed

on, or inherited from parent to ofspring .


https://dl.doubtnut.com/l/_QgHndlzfabik

A man with blood group A marries a woman

having blood group of the child ?

A. O only

B. Aonly

C. AB

D. Equal chance of acquiring blood group A

or blood group O

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_QgHndlzfabik
https://dl.doubtnut.com/l/_CZbS8lxiGq7e

1. Read the following and answer the
following question

Gregor Johann Mendel is known as a "father of
modern genetics" for his work in the field or
genetics .He gave three laws of inheritance
followed as Law of dominance , Law of
segregation and Law of independent
assortment . he conducted his experiment on
garden pea plants having contrasting
characteristics .He performed self - pollination
and cross -pollination to understand the

inheritance patterns of traits .


https://dl.doubtnut.com/l/_CZbS8lxiGq7e

After cross -fertilisation of true -breeding tall
and dwarf plants ,the F1 generation was self
fertilised .The resultant plants have genotypes

in the ratio :

A.1:2:1 (homozygous tall : heterozygous

tall dwarf)

B.1:2:1 (heterozygous tall : homosygous

tall : dwarf)

C.3:1 (tall : dwarf)

D. 3: 1(dwarf:tall)


https://dl.doubtnut.com/l/_CZbS8lxiGq7e

Answer: A

° View Text Solution

12. Read the following and answer the
following question

Gregor Johann Mendel is known as a "father of
modern genetics" for his work in the field or
genetics .He gave three laws of inheritance
followed as Law of dominance , Law of
segregation and Law of independent

assortment . he conducted his experiment on


https://dl.doubtnut.com/l/_CZbS8lxiGq7e
https://dl.doubtnut.com/l/_2Zy9xsKHm5Wq

garden pea plants having contrasting
characteristics .He performed self - pollination
and cross -pollination to understand the
inheritance patterns of traits .

Which of the following characteristics of pea
plants was not used by Mendel in his

experiments ?

A. Seed colour

B. Seed shape

C. Pod length

D. Flower position


https://dl.doubtnut.com/l/_2Zy9xsKHm5Wq

Answer: C

° View Text Solution

13. Read the following and answer the
following question

Gregor Johann Mendel is known as a "father of
modern genetics" for his work in the field or
genetics .He gave three laws of inheritance
followed as Law of dominance , Law of
segregation and Law of independent

assortment . he conducted his experiment on


https://dl.doubtnut.com/l/_2Zy9xsKHm5Wq
https://dl.doubtnut.com/l/_xt91BrkCWFDK

garden pea plants having contrasting
characteristics .He performed self - pollination
and cross -pollination to understand the
inheritance patterns of traits .

Mendel contrasting characteristics of pea

plants .

A. eight

B. seven

C. six

D. five

Answer: B


https://dl.doubtnut.com/l/_xt91BrkCWFDK

° View Text Solution

14. Read the following and answer the
following question

Gregor Johann Mendel is known as a "father of
modern genetics" for his work in the field or
genetics .He gave three laws of inheritance
followed as Law of dominance , Law of
segregation and Law of independent
assortment . he conducted his experiment on
garden pea plants having contrasting

characteristics .He performed self - pollination


https://dl.doubtnut.com/l/_xt91BrkCWFDK
https://dl.doubtnut.com/l/_sMPxgP6MhxSw

and cross -pollination to understand the

inheritance patterns of traits .

The maleness of a child is determined by :

A. the X-chromosome in the zygote

B. the Y-chromosome in zygote

C.the cytoplasm of germ cell which

determines the sex.

D. sex is determined by chance

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_sMPxgP6MhxSw

15. Read the following and answer the
following question

Gregor Johann Mendel is known as a "father of
modern genetics" for his work in the field or
genetics .He gave three laws of inheritance
followed as Law of dominance , Law of
segregation and Law of independent
assortment . he conducted his experiment on
garden pea plants having contrasting
characteristics .He performed self - pollination

and cross -pollination to understand the


https://dl.doubtnut.com/l/_sMPxgP6MhxSw
https://dl.doubtnut.com/l/_gC2uqpeOaUHH

inheritance patterns of traits .

Test cross determines :

A. whether two traits are linked or not

B. the genotype of F; plant.

C.whether the two species will breed

successfully or not .

D. number of alleles in a gene..

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_gC2uqpeOaUHH
https://dl.doubtnut.com/l/_dhy9LFDVi0PY

16. Read the passage carefully and answer the
following questions.

Gregor Mendel in 1865, paved the way for the
analysis of the underlying genetic basis of

traits by setting out to understand the

principlesof heredity . As per Darwin's
observations , in nearly all populations
individuals observations , in nearly all

populations individuals tend to produce far
more offspring than are needed to replace the
parents .He also observed that it is very rare

for any two individuals to be exactly alike . All


https://dl.doubtnut.com/l/_dhy9LFDVi0PY

the natural variations among individuals lead
to natural variations among individuals lead
to natural selection .Individuals to be exactly
alike . All the natural variations among
individuals born with variations that present
an advantage in obatining resources or mates
have greater chances of living and
reproducing offspring who would inherit and
carry forward the favourable variations .At the
same time , individuals with different
variations might be less likely to reproduce..

VV, Vv and vv are while violet and white


https://dl.doubtnut.com/l/_dhy9LFDVi0PY

A. genotypes , phenotypes

B. phenotypes , genotypes

C. genotypes,genotypes

D. phenotypes,phenotypes

Answer: A

o View Text Solution

17. Read the passage carefully and answer the
following questions.

Gregor Mendel in 1865, paved the way for the


https://dl.doubtnut.com/l/_dhy9LFDVi0PY
https://dl.doubtnut.com/l/_dktOlP5TZopk

analysis of the underlying genetic basis of

traits by setting out to understand the

principlesof heredity . As per Darwin's
observations , in nearly all populations
individuals observations , in nearly all

populations individuals tend to produce far
more offspring than are needed to replace the
parents .He also observed that it is very rare
for any two individuals to be exactly alike . All
the natural variations among individuals lead
to natural variations among individuals lead
to natural selection .Individuals to be exactly

alike . All the natural variations among


https://dl.doubtnut.com/l/_dktOlP5TZopk

individuals born with variations that present
an advantage in obatining resources or mates
have greater chances of living and
reproducing offspring who would inherit and
carry forward the favourable variations .At the
same time , individuals with different
variations might be less likely to reproduce..

Which one of the following traits is most likely

to pass from one generation to other ?

A. Artificial hair coloured by a mother

during pregnancy .

B. Acquired skills by a father


https://dl.doubtnut.com/l/_dktOlP5TZopk

C. Brown eye colour.

D. Six fingers in right hand of a person

Answer: C

o View Text Solution

18. Read the passage carefully and answer the
following questions.

Gregor Mendel in 1865, paved the way for the
analysis of the underlying genetic basis of

traits by setting out to understand the


https://dl.doubtnut.com/l/_dktOlP5TZopk
https://dl.doubtnut.com/l/_v0wB1DZLwPFB

principlesof heredity . As per Darwin's
observations , in nearly all populations
individuals observations , in nearly all
populations individuals tend to produce far
more offspring than are needed to replace the
parents .He also observed that it is very rare
for any two individuals to be exactly alike . All
the natural variations among individuals lead
to natural variations among individuals lead
to natural selection .Individuals to be exactly
alike . All the natural variations among
individuals born with variations that present

an advantage in obatining resources or mates


https://dl.doubtnut.com/l/_v0wB1DZLwPFB

have greater chances of living and
reproducing offspring who would inherit and
carry forward the favourable variations .At the
same time , individuals with different
variations might be less likely to reproduce..

_______ is simply the generation of diversity and

the shaping of the diversity by environmental

selection .

A. Evolution

B. Speciation

C. Heredity


https://dl.doubtnut.com/l/_v0wB1DZLwPFB

D. Natural selection

Answer: A

o View Text Solution

19. Read the passage carefully and answer the
following questions.

Gregor Mendel in 1865, paved the way for the
analysis of the underlying genetic basis of
traits by setting out to understand the

principlesof heredity . As per Darwin's


https://dl.doubtnut.com/l/_v0wB1DZLwPFB
https://dl.doubtnut.com/l/_96ObRVOlbLeb

observations , in nearly all populations
individuals observations , in nearly all
populations individuals tend to produce far
more offspring than are needed to replace the
parents .He also observed that it is very rare
for any two individuals to be exactly alike . All
the natural variations among individuals lead
to natural variations among individuals lead
to natural selection .Individuals to be exactly
alike . All the natural variations among
individuals born with variations that present
an advantage in obatining resources or mates

have greater chances of living and


https://dl.doubtnut.com/l/_96ObRVOlbLeb

reproducing offspring who would inherit and
carry forward the favourable variations .At the
same time , individuals with different
variations might be less likely to reproduce..
Which one of the following statements is not
true ?
A. Excavating ,time -dating ,studying fossils
,and determining DNA sequences are
tools to study evolution

B. Variations arising during the process of

reproduction cannot be inherited .


https://dl.doubtnut.com/l/_96ObRVOlbLeb

C. Variations in the species may confer

survival advantages or merely contribute

to the genetc drift .

D. Classification of organisms is based on

tracing evolutionary relationships .

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_96ObRVOlbLeb

20. Read the passage carefully and answer the
following questions.

Gregor Mendel in 1865, paved the way for the
analysis of the underlying genetic basis of

traits by setting out to understand the

principlesof heredity . As per Darwin's
observations , in nearly all populations
individuals observations , in nearly all

populations individuals tend to produce far
more offspring than are needed to replace the
parents .He also observed that it is very rare

for any two individuals to be exactly alike . All


https://dl.doubtnut.com/l/_CRBbfxyMkQf8

the natural variations among individuals lead
to natural variations among individuals lead
to natural selection .Individuals to be exactly
alike . All the natural variations among
individuals born with variations that present
an advantage in obatining resources or mates
have greater chances of living and
reproducing offspring who would inherit and
carry forward the favourable variations .At the
same time , individuals with different
variations might be less likely to reproduce..

Frequency of certain in a population


https://dl.doubtnut.com/l/_CRBbfxyMkQf8

changes over generations to bring about

evolution .

A. members

B. progenies

C. genes

D. ideas

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_CRBbfxyMkQf8

21. Read the passage carfully and answer the
following questions .

Inheritance is the acquiring of genetic
characterstics or traits from parents by their
offsprring .In humans , both parents equally
contribute to the inheritance of traits . In 1860
.Gregor Mendel studied the rules of
inheritance of traits . He conducted an
experiment on pea plants for the same .He
cultivated pea plants and observed their
pattern of inheritance from one generation to

the next generation .this obervation resulted


https://dl.doubtnut.com/l/_gzupUCtObSva

in the discovery of three laws of inheritance
famously known as Mendel's laws of
Inheritance .

is the observable set of

characteristics of an organism .

A. Phenotype

B. Genes

C. DNA

D. All of these

Answer: A



https://dl.doubtnut.com/l/_gzupUCtObSva

| = VIEW ICXU o501ution ]

22. Read the passage carfully and answer the
following questions .

Inheritance is the acquiring of genetic
characterstics or traits from parents by their
offsprring .In humans , both parents equally
contribute to the inheritance of traits . In 1860
.Gregor Mendel studied the rules of
inheritance of traits . He conducted an
experiment on pea plants for the same .He

cultivated pea plants and observed their


https://dl.doubtnut.com/l/_gzupUCtObSva
https://dl.doubtnut.com/l/_SNeUo1ZjL2Pq

pattern of inheritance from one generation to
the next generation .this obervation resulted
in the discovery of three laws of inheritance
famously known as Mendel's laws of
Inheritance .

Select the statements that escribe
characteristics of genes :

(A) Genes are specific sequence of bases in a
aDNA molecule .

(B) A gene does not code for proteins .

(C) In individuals of a given species , a specific
gene is located on a particular chromosome .

(D) Each chromosome has only one gene..


https://dl.doubtnut.com/l/_SNeUo1ZjL2Pq

C. (A),(D)

D. (B),(D)

Answer: B

o View Text Solution

23. Read the passage carfully and answer the
following questions .

Inheritance is the acquiring of genetic


https://dl.doubtnut.com/l/_SNeUo1ZjL2Pq
https://dl.doubtnut.com/l/_3WZPiWnhAZdS

characterstics or traits from parents by their
offsprring .In humans , both parents equally
contribute to the inheritance of traits . In 1860
.Gregor Mendel studied the rules of
inheritance of traits . He conducted an
experiment on pea plants for the same .He
cultivated pea plants and observed their
pattern of inheritance from one generation to
the next generation .this obervation resulted
in the discovery of three laws of inheritance
famously known as Mendel's laws of
Inheritance .

A group of moths some brown and some


https://dl.doubtnut.com/l/_3WZPiWnhAZdS

green lived in a grassland having dry bushes

and dry grass . This phenomenon is called :

A. Variation

B. Natural selection

C. Mutations

D. None of them

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_3WZPiWnhAZdS

24. Read the passage carfully and answer the
following questions .

Inheritance is the acquiring of genetic
characterstics or traits from parents by their
offsprring .In humans , both parents equally
contribute to the inheritance of traits . In 1860
.Gregor Mendel studied the rules of
inheritance of traits . He conducted an
experiment on pea plants for the same .He
cultivated pea plants and observed their
pattern of inheritance from one generation to

the next generation .this obervation resulted


https://dl.doubtnut.com/l/_xPRxPCd1gYe8

in the discovery of three laws of inheritance
famously known as Mendel's laws of
Inheritance .
The two versions of a trait which are brought
in by the male and female gametes are
situated on :

A. copies of the same chromosome

B. two different chromosomes

C. sex chromosomes

D. any chromosomes

Answer: A


https://dl.doubtnut.com/l/_xPRxPCd1gYe8

° View Text Solution

25. Read the passage carfully and answer the
following questions .

Inheritance is the acquiring of genetic
characterstics or traits from parents by their
offsprring .In humans , both parents equally
contribute to the inheritance of traits . In 1860
.Gregor Mendel studied the rules of
inheritance of traits . He conducted an
experiment on pea plants for the same .He

cultivated pea plants and observed their


https://dl.doubtnut.com/l/_xPRxPCd1gYe8
https://dl.doubtnut.com/l/_ByZyxQblVTfV

pattern of inheritance from one generation to
the next generation .this obervation resulted
in the discovery of three laws of inheritance
famously known as Mendel's laws of
Inheritance .

If a round ,green seeded pea plant (RRyy) is
crossed with wrinkled , yellow seeded pea
plant (rrYY) ,the seeds produced in F1

generation are:

A.round and yellow

B. round and green

C. wrinkled and green


https://dl.doubtnut.com/l/_ByZyxQblVTfV

D. wrinkled and yellow

Answer: A

o View Text Solution

26. Read the passage carefully and answer the
following question

A genetic disorder is an inherited medical
condition . It can be passed from parents to
their children . Examples include cystic fibrosis

, sickle cell disease an haemophilia .


https://dl.doubtnut.com/l/_ByZyxQblVTfV
https://dl.doubtnut.com/l/_UUFDCth9zwap

Parents who are heterozygous for these
conditions are called carriers .They do not
usually have the disorder themselves .This is

shown in this Punnett square for cystic fibrosis

An individual who is homozygous (cc) with the

recessive allele will develop cystic fibrosis.

State the probability percentage of children

Without cystic fibrosis

A.0.75

B.0.25


https://dl.doubtnut.com/l/_UUFDCth9zwap

C. 0.

D. 0.05

Answer: A

o View Text Solution

27. Read the passage carefully and answer the
following question

A genetic disorder is an inherited medical
condition . It can be passed from parents to

their children . Examples include cystic fibrosis


https://dl.doubtnut.com/l/_UUFDCth9zwap
https://dl.doubtnut.com/l/_tbErqjgcAGco

, sickle cell disease an haemophilia .

Parents who are heterozygous for these
conditions are called carriers .They do not
usually have the disorder themselves .This is

shown in this Punnett square for cystic fibrosis

An individual who is homozygous (cc) with the

recessive allele will develop cystic fibrosis.

State the probability percentage of children

with crystic fibrosis .

A.0.75


https://dl.doubtnut.com/l/_tbErqjgcAGco

B.0.25

C. 0.

D. 0.05

Answer: B

o View Text Solution

Very Short Answer Type Questions

1. How many laws were given by Mendel ?

l o View Text Solution


https://dl.doubtnut.com/l/_tbErqjgcAGco
https://dl.doubtnut.com/l/_Eiax2Z0WXkY3

2. What is Law of Dominance ?

° View Text Solution

3. What are homologous chromosome ?

° View Text Solution

4.What are genes located ?

l ° View Text Solution


https://dl.doubtnut.com/l/_Eiax2Z0WXkY3
https://dl.doubtnut.com/l/_HtaCOQL9v0vz
https://dl.doubtnut.com/l/_VJJFp6uL5133
https://dl.doubtnut.com/l/_Xmcnk2ndrksc

5. What will be the blood group of an

individual with genetics combination IAIB ?

o View Text Solution

6. Which is the safest blood group for
donation if an accident victim of an unknown
blood group has to be given immediate blood

transfusion ?

° View Text Solution



https://dl.doubtnut.com/l/_Xmcnk2ndrksc
https://dl.doubtnut.com/l/_OjDVjrT1kHTe
https://dl.doubtnut.com/l/_imBhN1dAZ9Pi

7.How can a person be normal for a trait even

wher carrying one defective gene for that trait

?

° View Text Solution

8. How does the creation of variations in

species promote survival ?

o View Text Solution



https://dl.doubtnut.com/l/_imBhN1dAZ9Pi
https://dl.doubtnut.com/l/_h2DvnM9sVnoW
https://dl.doubtnut.com/l/_TSEmRlUma1CI
https://dl.doubtnut.com/l/_5RrG8CKWvDAy

9. What are the different ways in which
individuals with aprticuar trait may increase in

a population ?

o View Text Solution

10. Why are traits acquired during the lifetime

of an individual not inherited ?

° View Text Solution



https://dl.doubtnut.com/l/_5RrG8CKWvDAy
https://dl.doubtnut.com/l/_3ReW7x9PTNVj

11. What factors could lead to the rise of a new

species ?

° View Text Solution

12. When a balck guinea pig is crossed with a
white gunea pig , what coloured guinea pigs
are obatained in F1 generation if black colour

is dominant over white ?

o View Text Solution



https://dl.doubtnut.com/l/_ORbjSRXgSVPU
https://dl.doubtnut.com/l/_mjvITYrjUcRA
https://dl.doubtnut.com/l/_PiiEMfQWugQ1

13.In a cross between a tall pea plat (TT) and a
short pea plant (tt) ,what will be the

characteristics shown by the F} generation ?

o View Text Solution

14. In a cross between round yellow seeds
(Rryy) and wrinkled green seeds (rryy) of pea
plant ,what is the ratio of plants obtained in

F5 generation ?

o View Text Solution



https://dl.doubtnut.com/l/_PiiEMfQWugQ1
https://dl.doubtnut.com/l/_RflzWpAf6RST

15. In turtle ,high incubation temperature
leads to the development of female offspring
.On the other hand in lizards ,high incubation
temperature leads to the development of male
offspring.What determines the sex of the

offspring in these example ?

o View Text Solution

16. All the variation is a species do not have

equal chances of survival Why ?

| & l


https://dl.doubtnut.com/l/_HeNgsjZBl2ml
https://dl.doubtnut.com/l/_aCBjEdkwShHj

| ¥ View Text Solution |

17. How do the variations is a species promote

survival ?

° View Text Solution

18. A Mendelian experiment consisted of
breeding pea plants bearing violet flowers
with pea plat bering whit flowers .What will be

the result in F} progeny ?

o View Text Solution



https://dl.doubtnut.com/l/_aCBjEdkwShHj
https://dl.doubtnut.com/l/_ek5wNDedJ8R9
https://dl.doubtnut.com/l/_5xU2hBd7seYt

19. Give the respective scientist terms used for

studying :

o View Text Solution

20. What is a recessive trait ?

o View Text Solution



https://dl.doubtnut.com/l/_5xU2hBd7seYt
https://dl.doubtnut.com/l/_6yF244FmW0TE
https://dl.doubtnut.com/l/_p2cNYrvvHNIm

21. A Mendelian experiment consisted of
breeding pea plants bearing violet flowers
with pea plant bearing whit flowers .What will

be the result in F; progeny ?

° View Text Solution

22. Give any two examples where sex
determination is regulated by environmental

factors ?

° View Text Solution



https://dl.doubtnut.com/l/_MQJIqqPMpXAS
https://dl.doubtnut.com/l/_IsHiaHJ2VKOc

23. What will be the sex of a child who inherits

Y chromosome from his or her father?

o View Text Solution

24. Do genetic combination of mothers play a
significant role in determining the sex of a

new born ?

o View Text Solution



https://dl.doubtnut.com/l/_IsHiaHJ2VKOc
https://dl.doubtnut.com/l/_HxiYtfQ2q5vE
https://dl.doubtnut.com/l/_OSP1EiTlviXX
https://dl.doubtnut.com/l/_RlPS6eLHxelD

25. How many pairs of chromosomes are

autosomes ?

° View Text Solution

26. Why Pre - natal Diagonostic Techniques
(Reguation and Prevention of Misuse ) Act ,

1994 , was enacted ?

° View Text Solution



https://dl.doubtnut.com/l/_RlPS6eLHxelD
https://dl.doubtnut.com/l/_1wcZwoYVGSjR

27. Discuss the typesof egg and sperm in

reference to X and Y chromosome..

° View Text Solution

28.1f Y bearing sperm fuses with the egg what
will be the sex of the child ? Also state the

chromosome constitution .

° View Text Solution



https://dl.doubtnut.com/l/_raupJlrop6Dd
https://dl.doubtnut.com/l/_HHhiiRAO37ZR

29. How many X chromosome can be found in

the cells of the body of (i) a boy, and (ii) a girl .

o View Text Solution

30. If a X bearing sperm fuses with an egg
what with be the sex of the individual

developing from the zygote ?

o View Text Solution

Reasoning Based Questions


https://dl.doubtnut.com/l/_k0jwD6a6vXkI
https://dl.doubtnut.com/l/_Ynr66DrMKiLE

1. Give reason why acquired characters are not

inherited ?

° View Text Solution

2. Why do all the gametes formed in human

female have an X-chromosome ?

o View Text Solution

Short Answer Type Questions



https://dl.doubtnut.com/l/_MONjbxifVhbF
https://dl.doubtnut.com/l/_06OLvYD1eWYp

1. How can variation occure in asexually

reprodcing organisms ?

° View Text Solution

2. What are mutations ? Can mutation be

inherited ?

o View Text Solution



https://dl.doubtnut.com/l/_OFNQgvq6WH8x
https://dl.doubtnut.com/l/_Cr6UL4oHEYcB

3. State the observation of Mendel on self -

pollination of first generation plants .

° View Text Solution

4. Which is a small section of DNA that is the

genetic code for a characterisic ?

o View Text Solution



https://dl.doubtnut.com/l/_FOSqcheUS6Kg
https://dl.doubtnut.com/l/_TtuA9wqrkbtA

5. Here are the three possible genotypes for
hair length in cats . Complete the table below

.Remember short hair is dominant.

o

° View Text Solution

6. Wil all organisms from a cross between two
homozygous dominant organisms would have

the same phenotype ?

° View Text Solution



https://dl.doubtnut.com/l/_oDIRMtQMMlXy
https://dl.doubtnut.com/l/_1inGToa9kuOs

7. What proportion of offspring from BB v Bb

would be BB ?

o View Text Solution

8. What proportion of offspring from Cc v Cc

would be cc?

o View Text Solution



https://dl.doubtnut.com/l/_1inGToa9kuOs
https://dl.doubtnut.com/l/_W7Nd5sxSlmrb
https://dl.doubtnut.com/l/_WrGbfyMYfpKx

9. What proportion of offspring from tt v Tt

would be tt ?

° View Text Solution

10. What proportion of offspring from two
homozygous recessive organisms would be

homozygous recessive ?

° View Text Solution



https://dl.doubtnut.com/l/_LuesD7QKYD4Y
https://dl.doubtnut.com/l/_zrSURRECIaQ4

1. Complete the square belw for two
heterozygous short - haired cats . Work out
the probability percentage off genotype and
phenotype of the offspring of genotype and
phenotype of the offspring remember short
hair (H) is dominant .

L

L

o View Text Solution



https://dl.doubtnut.com/l/_5k9q1PysimAj

12. Characteristics in an individua organism
are caused by both genetic and environmental
variation .Complete the table below stating
whether the chracteristic is genetic or

environmental variation .

o View Text Solution

13. A study forund that children with ight

coloured eyes are likely to hava parents with


https://dl.doubtnut.com/l/_CUEXLVoE1wtM
https://dl.doubtnut.com/l/_F7WiDgZTRn1C

light - coloured eyes . On the basis can we say
anything about whether the light eye colour
trait is dominant or recessive ? Why or why

not ?

° View Text Solution

14. Only variations that confer an advantage to
an individual organism will survive in a
Population .Do you agree with this statement

? Why or why not ?

° View Text Solution



https://dl.doubtnut.com/l/_F7WiDgZTRn1C
https://dl.doubtnut.com/l/_2otx6LwQuiAc

15. Gene controls traits. Explain this with an

example ?

° View Text Solution

16. How do Mendel's experiment show that

traits may be dominant or recessive ?

o View Text Solution



https://dl.doubtnut.com/l/_2otx6LwQuiAc
https://dl.doubtnut.com/l/_WdXcC2d55aPr
https://dl.doubtnut.com/l/_54Bw4OkxbLUb

17.If a trait A exists in 10 % of a population of
an asexually reproducing species and trait B
exists in 60 % of the same population ,which

trait is likely to have arisen earlier ?

° View Text Solution

18. Outline a project which aiims to find the

dominant coat colour in dogs .

o View Text Solution



https://dl.doubtnut.com/l/_AEBx9DPKeSiD
https://dl.doubtnut.com/l/_OpGBp6potGbZ
https://dl.doubtnut.com/l/_kmOm6zt3eNyi

19. A man with blood group A marries a
woman with blood group O and their
daughter has blood group blood group O and
their daughter has blood group O . Is this
information enough to tel you which of the
traits blood group A or O is dominant ?Why or

why not ?

o View Text Solution

20. A study found that children with light

coloured eyes are likely to have prents with


https://dl.doubtnut.com/l/_kmOm6zt3eNyi
https://dl.doubtnut.com/l/_c9tQXujKA2XB

light -coloured eyes .On this basis can we say
anything about whether the light eye colour

trait is dominant or recessive ?Why or why not

?

o View Text Solution

21. Name the plant Mendel used for his
experiment What type of progeny was
obtained by Mendel in F; and F, generations

when he crossed the tall and short plants ?


https://dl.doubtnut.com/l/_c9tQXujKA2XB
https://dl.doubtnut.com/l/_VPhRkvEEuMF9

Write the ratio he obtained in F; generation

plants .

° View Text Solution

22. How is the sex of the child determined in

human beings ?

o View Text Solution

23. Answer the following : Who are more

closely related -A brother and sister or two


https://dl.doubtnut.com/l/_VPhRkvEEuMF9
https://dl.doubtnut.com/l/_gzdylzF8uQZU
https://dl.doubtnut.com/l/_8i8PeAfr0UYk

cousins ?Why ?

o View Text Solution

24. Why do all the gametes formed in human

female have an X-chromosome ?

° View Text Solution

25. How is the equal genetic contribution of
male and female parents ensured in the

progeny ?


https://dl.doubtnut.com/l/_8i8PeAfr0UYk
https://dl.doubtnut.com/l/_sx4ocxPNa0vP
https://dl.doubtnut.com/l/_YLT4BBlYAYPK

° View Text Solution

26. Why are human beings who look so
different from each other in terms of size ,
colour and looks said to belong to the same

species ?

o View Text Solution

27. How is the equal genetic contribution of

male and female parents ensured in the


https://dl.doubtnut.com/l/_YLT4BBlYAYPK
https://dl.doubtnut.com/l/_EDRReRnSQBmV
https://dl.doubtnut.com/l/_PtjImBMJtCX6

Progeny ?

o View Text Solution

28. How many pairs of chromosomes are
present in human beings?Out of this how
many are sex chromosomes ? How many types
of sex chromosomes are found in human

beings ?

o View Text Solution



https://dl.doubtnut.com/l/_PtjImBMJtCX6
https://dl.doubtnut.com/l/_IJta4GGGDqPc

Long Answer Type Questions

1. Why did Mendel choose pea plants for his

experiment ?Give any five reasons .

o View Text Solution

2. Give the basic features of the menchanism

of inheritance ?

° View Text Solution



https://dl.doubtnut.com/l/_LqlAedi1Yxh6
https://dl.doubtnut.com/l/_JlcZ7TzwPeHX
https://dl.doubtnut.com/l/_g3AJNdUXh3K9

3. Give the cross between RRYY x rryy for both
F1 and F2 generation ? What are the
combination of characters produced in F2
generation and give reasons for appearance of

new progeny ?

o View Text Solution

4. A blue flower plant denoted by BB is crossed
with that of white coloured flower plant

denoted by bb .


https://dl.doubtnut.com/l/_g3AJNdUXh3K9
https://dl.doubtnut.com/l/_GRrlDJgngyOI

State the colour of flower you would expect in

their F; generation plants.

° View Text Solution

5. A blue flower plant denoted by BB is crossed
with that of white coloured flower plant
denoted by bb .

What must be the percentage of white flower
plants in Fy generation if flower of F} plants

are self -pollinated ?

° View Text Solution



https://dl.doubtnut.com/l/_GRrlDJgngyOI
https://dl.doubtnut.com/l/_4tpaoZ9AHW3v

6. A blue flower plant denoted by BB is crossed
with that of white coloured flower plant
denoted by bb .

State the expected ratio of the genotypes BB

and bb in the F, progeny ?

° View Text Solution

7.How do Mendel's experiment show that the:

Traits may be dominant or recessive

l ° View Text Solution


https://dl.doubtnut.com/l/_4tpaoZ9AHW3v
https://dl.doubtnut.com/l/_zYv8NNIz08Qh
https://dl.doubtnut.com/l/_ErYc2J8ngtky

8. How do Mendel's experiment show that the:

Traits are inherited independently .

o View Text Solution

9. Answer the following questions :

What are dominant and recessive traits ?

° View Text Solution



https://dl.doubtnut.com/l/_ErYc2J8ngtky
https://dl.doubtnut.com/l/_00ECkK2koUrY
https://dl.doubtnut.com/l/_maSKE2Y8rXIX

10. "Is it possible that a trait is inherited but
may not be expressed in the next generation ?
Give a suitable example to justify this

statement.

o View Text Solution

11. The given box diagram represents the ratio
of females to males or the sex ratio in our
country for 10 decades (1901 to 2001) .Answer

the following questions in the light of your


https://dl.doubtnut.com/l/_TYu0psdCJK5t
https://dl.doubtnut.com/l/_w5q3WJjcRWYq

knowledge of sex determination and the data
presented in the box diagram .

L.

What does the bar diagram show ?

o View Text Solution

12. The given box diagram represents the ratio
of females to males or the sex ratio in our
country for 10 decades (1901 to 2001) .Answer
the following questions in the light of your

knowledge of sex determination and the data


https://dl.doubtnut.com/l/_w5q3WJjcRWYq
https://dl.doubtnut.com/l/_QxrvtVooFNGZ

presented in the box diagram .

L.

Assign one reason to the trend showing

deviation from the expected sex ratio .

o View Text Solution

13. The given box diagram represents the ratio
of females to males or the sex ratio in our
country for 10 decades (1901 to 2001) .Answer
the following questions in the light of your

knowledge of sex determination and the data


https://dl.doubtnut.com/l/_QxrvtVooFNGZ
https://dl.doubtnut.com/l/_2yZVcV5uxwxR

presented in the box diagram .

|

L

Suggest a way by which such a trend can be

stopped .

° View Text Solution

14. The sex of a new child is a matter of
chances and none of the parents may be
considered responsible for it . Draw a
flowchart showing determination of sex of a

newborn to justify this statement .

| |


https://dl.doubtnut.com/l/_2yZVcV5uxwxR
https://dl.doubtnut.com/l/_3cOWZgh2OXq1

& View Text Solution ]

Differentiate Between

1. Difference between Recessive and Dominant

Traits .

o View Text Solution

2. List two differences between acquired traits
and inherited traits by giving an example of

each .


https://dl.doubtnut.com/l/_3cOWZgh2OXq1
https://dl.doubtnut.com/l/_OZVYvY4shI4Z
https://dl.doubtnut.com/l/_l7UKIBuqg7Jq

° View Text Solution

Analysis And Evaluation Based Questions

1. Study carefully the given flowchart depicting

cross between pea plant with yellow seeds and
pea plant with green seeds and answer the
following :

What kind cross it depicts ?

° View Text Solution



https://dl.doubtnut.com/l/_l7UKIBuqg7Jq
https://dl.doubtnut.com/l/_32BHqD10FWTE
https://dl.doubtnut.com/l/_BME2B2doADOh

2. Study carefully the given flowchart depicting
cross between pea plant with yellow seeds and
pea plant with green seeds and answer the
following :

In which proportions the characters will
appear in F} and F, generation ?

L.

o View Text Solution

3. Acquiring characteristic or traits from one

generation to the other is nothing but


https://dl.doubtnut.com/l/_BME2B2doADOh
https://dl.doubtnut.com/l/_1NoPaXXAAKOk

inheritance .Here , both parents contribute
equally to the inheritance or traits. It was
Gregor Mendel , known as the Father of
Genetc who conducted immense research and
studied this inheritance of traits .It was with
his research on plan breeding that he came up
with the laws of inheritance in living
organisms .He conducted his experiments pea
plants to show the inheritance of traits in
living organisms .He observed the pattern of
inheritance from one generation to the other

in these plants .


https://dl.doubtnut.com/l/_1NoPaXXAAKOk

Name which Mendel's experiments shows that

traits are inherited indepe dently ?

° View Text Solution

4. Acquiring characteristic or traits from one
generation to the other is nothing but
inheritance .Here , both parents contribute
equally to the inheritance or traits. It was
Gregor Mendel , known as the Father of
Genetc who conducted immense research and

studied this inheritance of traits .It was with


https://dl.doubtnut.com/l/_1NoPaXXAAKOk
https://dl.doubtnut.com/l/_YSB9ioGiunki

his research on plan breeding that he came up
with the laws of inheritance in living
organisms .He conducted his experiments pea
plants to show the inheritance of traits in
living organisms .He observed the pattern of
inheritance from one generation to the other
in these plants .

3

What is observed by mendel in his experiment

about te phenotype and genotype ?

o View Text Solution



https://dl.doubtnut.com/l/_YSB9ioGiunki
https://dl.doubtnut.com/l/_7xZJGxUel8el

5. Acquiring characteristic or traits from one
generation to the other is nothing but
inheritance .Here , both parents contribute
equally to the inheritance or traits. It was
Gregor Mendel , known as the Father of
Genetc who conducted immense research and
studied this inheritance of traits .It was with
his research on plan breeding that he came up
with the laws of inheritance in living
organisms .He conducted his experiments pea
plants to show the inheritance of traits in
living organisms .He observed the pattern of

inheritance from one generation to the other


https://dl.doubtnut.com/l/_7xZJGxUel8el

in these plants .

L.

Define the term Genotype.

o View Text Solution

6. Acquiring characteristic or traits from one
generation to the other is nothing but
inheritance .Here , both parents contribute
equally to the inheritance or traits. It was
Gregor Mendel , known as the Father of

Genetc who conducted immense research and


https://dl.doubtnut.com/l/_7xZJGxUel8el
https://dl.doubtnut.com/l/_xiN9CoHmq4LN

studied this inheritance of traits .It was with
his research on plan breeding that he came up
with the laws of inheritance in living
organisms .He conducted his experiments pea
plants to show the inheritance of traits in
living organisms .He observed the pattern of
inheritance from one generation to the other
in these plants .

L.

What do you understand by dominant alleles ?

o View Text Solution



https://dl.doubtnut.com/l/_xiN9CoHmq4LN
https://dl.doubtnut.com/l/_OJjjgq7lZcv4

7. Given below is the experiment carried out by
Mendel to study inheritance of two traits in
garden pea.

L

Fill the boxes .

° View Text Solution

8. Given below is the experiment carried out by
Mendel to study inheritance of two traits in
garden pea.

| =

L


https://dl.doubtnut.com/l/_OJjjgq7lZcv4
https://dl.doubtnut.com/l/_DoIA7oDcGccX

Why did Mendel carry experiment with two

traits ?

° View Text Solution

9. Given below is the experiment carried out by
Mendel to study inheritance of two traits in
garden pea.

Lo

What were his findings with respect to

inheritance of traits in | and F; generations

?

| e |


https://dl.doubtnut.com/l/_DoIA7oDcGccX
https://dl.doubtnut.com/l/_Ac8mZHYh75Pa

| L ® View Text Solution

10. Observe the ears of all the students in the
class .Prepare a list of students having free or
attached earlobes and calculate the
percentage of students having each
(Fig.below) .Find out about the earlobes of the
parents of each student in the class . Correlate
the earlobe type of each student with that of
their parents . Based on this evidence, suggest

a possible rule for the inheritance of earlobe


https://dl.doubtnut.com/l/_Ac8mZHYh75Pa
https://dl.doubtnut.com/l/_dD9qKaIPSNUk

types .
&2

° View Text Solution

11. In the given figure below , what experiment
would we do to confirm that the F;
generation did in fact have a 1:2: 1 ratio of TT

, Tt and trait combinations ?

&2
&

o View Text Solution



https://dl.doubtnut.com/l/_dD9qKaIPSNUk
https://dl.doubtnut.com/l/_JuDiroGgcXYY

Partical Based Questions

1. In a monohybrid cross between tall pea
plants (TT) and short pea plants (tt) a scientist
obtained only tall pea plants (Tt) in the F;
generation . However on selfing the F;
generation pea plants he obtained both tall
shot plants in F, generation. on the basis of
above observations with other angiosperms

also can the scientist arrive at a law ? If yes ,


https://dl.doubtnut.com/l/_JuDiroGgcXYY
https://dl.doubtnut.com/l/_50NzlQaMqFwx

explain the law .If not ,give justification for

your answer .

° View Text Solution

Application Based Questions

1. Guinea pig having black colour when crossed

with aguinea pig having same colour
produced 80 offspring ,out of which 60 were

black and 20 were white .Now find out :


https://dl.doubtnut.com/l/_50NzlQaMqFwx
https://dl.doubtnut.com/l/_sf9ibw7Q8AiO

What is the possible genotype of the guinea

pigs ?

° View Text Solution

2. Guinea pig having black colour when
crossed with aguinea pig having same colour
produced 80 offspring ,out of which 60 were
black and 20 were white .Now find out :

Which trait is dominant and which trait is

recessive ?

° View Text Solution



https://dl.doubtnut.com/l/_sf9ibw7Q8AiO
https://dl.doubtnut.com/l/_z0owqLZcYh0o

3. Guinea pig having black colour when
crossed with aguinea pig having same colour
produced 80 offspring ,out of which 60 were
black and 20 were white .Now find out :

What is this cross called and what is its

phenotypic ration ?

o View Text Solution

4. A woman with blonde hari married a man

with balck soft hair .All of their children in first


https://dl.doubtnut.com/l/_z0owqLZcYh0o
https://dl.doubtnut.com/l/_imKdDimpHvM9
https://dl.doubtnut.com/l/_LgcW8lYxcuHS

generation had black soft hair but in next
generation children had different
combinations in the ratio of 9:3:3:1 .State

the law that governs this expression .

° View Text Solution

5. Mrs Joshi an eight months pregnant lasy
was suggested by her doctor to get an
ultrasound done . She went to a radiologist
with her husband and got the ultrasound was

done , her husband asked doctor about the


https://dl.doubtnut.com/l/_LgcW8lYxcuHS
https://dl.doubtnut.com/l/_R5rukg1szI42

sex of the baby in the womb .
Is it ethical to determine the sex of the foetus

?Why ?

o View Text Solution

6. Mrs Joshi an eight months pregnant lasy
was suggested by her doctor to get an
ultrasound done . She went to a radiologist
with her husband and got the ultrasound was
done , her husband asked doctor about the

sex of the baby in the womb .


https://dl.doubtnut.com/l/_R5rukg1szI42
https://dl.doubtnut.com/l/_OctudsaAR30H

What is the chane of giving birth to a girl child

in human beings ?

o View Text Solution

7. Mrs Joshi an eight months pregnant lasy
was suggested by her doctor to get an
ultrasound done . She went to a radiologist
with her husband and got the ultrasound was
done , her husband asked doctor about the

sex of the baby in the womb .


https://dl.doubtnut.com/l/_OctudsaAR30H
https://dl.doubtnut.com/l/_INirT0hZRSzD

What has government done to stop female

foeticides ?

° View Text Solution

Creating Based Questions

1. Ram set with an accident .Kohn his school

mate takes him to the hospital where ram (AB
blood group ) needs blood transfusion .John
also has AB blood group and is willing to

donate his blood to different community so


https://dl.doubtnut.com/l/_INirT0hZRSzD
https://dl.doubtnut.com/l/_ByqnGfrBmzv6

has different type of blood" Give your opinion

about Ram's mother views.

o View Text Solution

2. Why a mice whose tail has been removed by

surgry does not produce tailness mice ?

o View Text Solution

3. A Blue Colour Flower Plant Denoted by Bb is

crossbreed with that of White Colour Flower


https://dl.doubtnut.com/l/_ByqnGfrBmzv6
https://dl.doubtnut.com/l/_v2qdOswBbcUB
https://dl.doubtnut.com/l/_bC4n74NphZrZ

Plant Denoted by Bb.
State the Colour of Flower You Would Expect

in Their F1 Generation Plants .

o View Text Solution

4. A Blue Colour Flower Plant Denoted by Bb is
crossbreed with that of White Colour Flower
Plant Denoted by Bb.

What must be the percentage of white flower
plants in F2 generation if flowers of f1 plants

are self - pollinated ?

| |


https://dl.doubtnut.com/l/_bC4n74NphZrZ
https://dl.doubtnut.com/l/_k0s2skiT483q

L ® View Text Solution I

5. A Blue Colour Flower Plant Denoted by Bb is
crossbreed with that of White Colour Flower
Plant Denoted by Bb.

State the expected ratio of the genotypes BB

and Bb in the F2 Progeny .

° View Text Solution

6. With the help of two suitable examples

.explain why certain experiences and traits


https://dl.doubtnut.com/l/_k0s2skiT483q
https://dl.doubtnut.com/l/_9yFObXONS51z
https://dl.doubtnut.com/l/_5oodZ6seN3CI

earned by people during their lifetime are not
passed on to their next generation .When can

such traits be passed on ?

o View Text Solution

7.Study the table given below and answer the

following questions .

&
&2

What is the sex determination ?

o View Text Solution



https://dl.doubtnut.com/l/_5oodZ6seN3CI
https://dl.doubtnut.com/l/_gouIX2iIPFSS

8. Study the table given below and answer the

following questions .

| =

L

L

What are the sex chromosomes in the males ?

° View Text Solution

9. Study the table given below and answer the

following questions .

| =

L


https://dl.doubtnut.com/l/_gouIX2iIPFSS
https://dl.doubtnut.com/l/_TdiOYKSEaMFD
https://dl.doubtnut.com/l/_aVrSHATXbShV

What are the sex chromosomes in the females

o View Text Solution

10. Study the table given below and answer

the following questions .

Is the father responsible forr the sex of the

child .

| e |


https://dl.doubtnut.com/l/_aVrSHATXbShV
https://dl.doubtnut.com/l/_Uzvyk5ytxRkN

L ® View Text Solution I

11. " A brother and sisteer are more related to
each other in comparison to the case when
any one of there is related with his or her
cousin". Through thing statement what will we

get to know about their ancestors ?

o View Text Solution



https://dl.doubtnut.com/l/_Uzvyk5ytxRkN
https://dl.doubtnut.com/l/_MSVOG0l4mWUG

